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aa’_()g_ ? L/"(-"('_}"
R 3 cf‘i.’ﬁé"'f%’i [ Ol-0F—20
Student: Instructor: Alfredo Alvarez Assignment: GC—2[-Jo "
Date: Course: Math 1314 Sullivan Coreq _ﬂnalm1314COC111sulIIIijZZ1 6N / ' J
V?b = _ ,ﬂr/n-u‘ 2 }/ {;:37/ 7
Simplify by factoring. — J28 = ' sy \
*/% l//ff"/’ - (Type an exact answer, using radicals as needed.) T
— = e
VeV sz =
Answer: 2./7 — ?/’ :
A7 =3
ID: Quick Check R6.25 ~—
= — —_',_._—'-———.:_;‘.‘-:'-_‘ — — —— = —
2. Use the FOIL method to find the product. (f/.ﬂ_ ¢) ( __'/f,) -

(5x +4)(4x - 1)

2oxl —sxX Fle K —F=

(5x +4)(4x - 1) = B ' (Simplify your answer)— ———
C2oxt +1lx —v 2

Answer: 20, + 11x - 4

ID: Quick Check R.10.10

- X = F . s
3. Find the product using the difference of two squares formula. (?& = 7 (? in ) ~—
X+ 1)( 5 x—=7

(4x +7)(4x~7) /é,{“l — /a‘f,q t 22";( -9/? ;- l-/'

(4x + 7)(4x-T7) =

== d 4 (e e
Answer: 16X2—49 <==__ /61 / ( Z_ __.,.—-i

ID: Quick Check R.10.16

4. Multiply using the rule for the square of a binomial. ( /{/// Ly d
2 —
(x-10) \ i) -
—_— (x—0) (X=7¢) =
x-10)% = e

L

/l —IX — (OX F/IY =

C X' —oxtro ="

—_—

Answer: y2 _ 20 + 100

ID: Quick Check R.10.21

/
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(b =3 (b1 )(ber) =

5. Find the product. (z;?__ ),)/ é ¢ + (l) G /;_’ f'Y) -
(b= 3)(b+4)b+1) | (b-—”(a’c/‘z' _,_#2-/, .+9¢) =
(b-3)b+4)b+1)= 2 ;/--{. > 7 ez
b Tt S b "7”_“_%_ 3L~ —(27 =
Answer: b3 4252 —11b-12 7 5 ’ 2 T e
L™ 2L =1 b ~1e = D
ID: R.10.61 = o
= = = i .;3: = =%
6. Simplify the expression. (\7 -/(G/ - -

(v+6)° (9+6¢) (‘7’:6/7 ()<
(y+6)° = | (7f6)(7 L 7‘677(7 36/ 2
[V’f"/(jf 7‘/27%3()‘_ -
kg > 2 A
ik C Y 718y /079 +2/ie

Answer: y3 4 18y2 + 108y +216

7. Factor the polynomial completely. If the polynomial cannot be factored, say it is prirn‘g.

: L B
- 2x° - 6x2 - 4x AZ)'( = COX ' 5/)< -

Select the correct choice below and, if necessary, fill in the answer box to complete your chgice.

—2X(X FBx+2) ~

(Type your answer in factored form.) _,..)--(—_—- - _) Z) ) \‘

B T - -+ - ®

' B. The polynomial - 2x> - 6x> - 4x is prime. C —=L )(( [ é( —
__—————'_—'—f

Answer: A. - 2 -6x% —4x=| - 2x(x +1)(x + 2) (Type your answer in factored form.)

O A - 2x° - 6x% ~4x =

ID: Quick Check PF.3.14 ) - ——

A —or—g <
8. Factor the polynomial completely. If the polynomial cannot be factored, say it is prime. =
-2 - 10r-8 /-,Z (/" ,r-j/}/\_{_cf =l
Select the correct choice below and, if necessary, fill in the answer box to ?leteyourchoice.

ST

A 2r% - 10r-8= (Type your answer in factored form:

) B. The polynomial - 2> - 10r-8 is prime,

Answer: A. = 2 - 10r-8= - 2(r +4)(r + 1) (Type your answer in factored form.)

ID: Quick Check PF.3.15

e —
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9. Solve the equation by factoring.
22 +2z-35=0
What is the solution set? ’g — =0 C)K g—/? —J

(Use a comma to separate answers as needed.) —7 0 ¢
Z"S’f)'”—u‘*; O% g—f77 /

Answer; -7, 5 cy 1 Z - =7/ :

ID: PF.4.31
10. Solve the equation. /7 4 & ? /7 =~ 7&
n?+9n=-14 P L w9 py Y =S

The solution set is { b, g}fl - Z’)(// -+ 7/

(Simplify your answer. Type an mteger or a'fraction. Use a comma to separate answers as needed.)

| w20 OoA  Sr7Z
Answer: -2,-7 ﬁfZ’Z — — L OK &f/#/:C)P 7

ID: PF.4.33 ( /7-"1 2> IN @,“

.
V¥ 2 I —y —9 Fos5hle +7
Sol > 4 =
omprre 1, 7 1 T Lal” =
x” +x° = 18x - i -3 V5 i PR —

z 3 2 L% ,

The solution setis { k. 2y ¢ [97'¢ __/g —S /2:55. L .__f,__' = -

(Simplify your answer. Type an integer or a simplified fraction. Use a comma to separate answers as neg

o 5¢ 5):—;{;?@;’:“1 P I o (Z)( .—r/ Q( _—Bj g i

-5.-33 2t & 0/( X/"j"’

w0

ID: PF.4.39

[, - —

12. Solve the equation using the sqL_Jare root property. (5, /_ ) Z f /

(5x - 3) = 81 | m‘: 2’6//’_

The solution set is _
(Simplify your answer. Type an exact answer, using radicals as needed. Type an integer or a fraction. Express complex
numbers in terms of i. Lise a comma to separate answers as needed.)

§X-3 <19 7 =
Answer: 12 6 ~f — =
T3 SX~-3=-9 M +3
D gy iy O f’(’/{“?
L PF.4.55 = —6 0L @/: //l

3o0f82 s — 11/4/2019, 7:47 AM
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o SUFer d= Ui ) S0 43 (2,7

:;nddFt,he dlstanced(P1 Pz) between the given points P, :«w % \// )(1 Y
* 4= Y- ( V)+@)-c9)*
Py=(-6,3) .
P;=(2,4) L / (6 “—L) + (3—)" ‘:_1__....-{.-"
Went =l

é / 6 |
d(Pq.P2) =, | @V’S—’F\v

(Simplify your answer. Type an exact awgmﬂtmm -as-needed:)——FM CV(
™,

Answer: /65 Q 8 062¢<17%¢ O :
ID: F.1.21 <6 g, 06 . ) KO"“»(

"'_-h-,_,_____

—

vy

14. Find the midpoint of the line segment joining the points P, and P,. (5— '-</') (7/ 5)
P,=(5, -4);P,=(7,8) ,;{/ \// /L Y

The midpoint of the line segment joining the points P, and P, is | [

(Simplify your answer. Type an ordered pair.)
’ ( i TR )
/_’

Answer: (6,2) /Vl U /ﬂdh%a 5
ID: F.1.39 %{{_c&/%,zd,,,\} = (‘(__B’_J_ZL_(_Z) t—"//;f(z))
L
ch)//{;.«\% C/ ‘S:’le;? Z%‘”i)
Mf//w} 7/ {:Zi)
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15.
For the equation x° +y2 - 8x— 6y - 11 =0, do the following. o
(a) Find the center (h,k) and radius r of the ci ,cle— j 3:
(b) Graph the circle. & \ |
(c) Find the intercepts, if any. Y °) 6
/ o
(a) The center is (, L«A A / 3
(Type an ordered pair.) 5 C)l oo ! / 21
The radius is r= e o B & 4 2 ] 34 ¢ &
(b) Use the graphing tool to graph the circle. '2'.
A
(c) Find the intercepts, if any. Select the correct choice
below and, if necessary, fill in the answer box to complete -G
your choice. -
ré
() A. The intercept(s) is/are 2 P  as Ill: —
(Type an ordered pair. Use a comma to )( - 7 — 67( A= 6 ] / — -
separate answers as needed. Type = ¥ /
exact answers for each coordinate, X f )( i }
using radicals as needed.), ,[ ( [_( 4 )
— W b iy
) B. Therelsnomlercept/[/ Zf)(.f (QL(‘S)) ‘f] 67 ( (5)) “ ) ﬂﬂ/"’)
- —{ -2 < '-/ —
Answers (4,3) /(, 0,)( ) ( V) T 7 6 T / ) // —f / // / 5)
C¥x #/6 —-f/ -—6/ ~r; = f#£6F T
é{ Y/(,{mcr) i "‘)/} -3 ) C ?5
Y e =N "< 2L
—c . 2
(/l/ f) i )___:_‘H\
(Cé yies :_C",‘?’_}_);___,, —~
N
Refiasz V2676 )
B
.8.
10
A. The intercept(s) is/are | (4-343,0),(4+343,0),(0,3-245),(0,3+245) .
(Type an ordered pair. Use a comma to separate answers as needed. Type exact answers for each coordinate,
using radicals as needed.)
ID: F4.27
50f82 11/4/2019, 7:47 AM
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16. Solve the inequality 19 — 3x < 7. Graph the solution set.

In set notation, the solution is {x| . (Type an inequality.)

Graph the solution set. Choose the correct graph below.

O A, - f—— () B | ———
9 9 6 3 0 3 6 9

() C. ittt ——————> () ) ) >

21 18 156 -2 9 -6 -3 -9 -6 -3 0 3 6 9

Answers x> 4

6 of 82 11/4/2019, 7:47 AM
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17 Find the following for the function f(x) = 4x + 4x - 4.

(a) f(0) (b) f(1) (c)f(-1) (d) f{(—x)
(e) —f(x) (f) f(x + 3) (9) f(5x) (h) f(x+h)
(a) f(0) = f_ _I (Simplify your answer.)

®yf()= | (Simplify your answer.)

(©f-1=  |(Simplify your answer.)
@@f-x)=| | (Simplify your answer.)

(e) -fx)=| | (Simplify your answer.)

(Nfx+3)=| | (Simplify your answer.)
(g) f(5x) = ' (Simplify your answer.)
(h) f(x+h) = ] (Simplify your answer.)
Answers ~4

4

-4

4x2 -4x-4

-4l -ax+4

452 +28x +44

100x? +20x - 4

4x? +8hx +4h% + 4x + 4h - 4

ID: 1.1.43
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/( s¥) < 7(5%) “ Gex) et
//(SF’(-) <Y (axfrx) sk )~ Y
//S’() = Yesxt) + Ysx)—

//(5’5() = /00)/Z-(~ zd/i

@A .[%4:%/&—#?,(-—:9(
K Cxrh) = Cxeh) S+ S74) =7
Jrei) < ClchNced) - SAAA) =S
76(’/4/ N ‘?‘//—&f [5¢h+ lxlwhz) + & rl ) —"F
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18. Find the domain of the function.

V f(x) = 1/4x -28

The domain is :[ (Type your answer in interval notation.)

Answer: [7,00)

ID: 1.1.59

fév--/m»i R
dovrre \

Jré(/ - [/4)('7‘"5 - /)

= 11/4/2019, 7:47 AM
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ﬁ For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.
f(x) = 5x + 9; g(x) = 3x - 4 /,»4 ]
() Find (F + g)(x). g 5 (2 ):
(f+g)(x) = | (Simplify your answer.) @Xf, ﬁ‘_) -t ( X~ ‘/) :

What is the domain of f+ g7 Select the correct choice below and, if necessary. fill in the answer box to complete your

choice. T R a wd L T %
/’”—\ =~L<-"' -~ Ci V77 ¢ % N
‘" A. The domain is {x| 3 / X 1S ot ( i /p )

(Use integers or fractions for any numbers in the 8s5ion. Use @ comma to sep te

answers as heeded.) )/
; %) -

1 B. The domain is {x| x is any real number}.

B (0) Find (F- g)(x). r’N/’ g ()(/
4 I (}/(, G )

f-g)x)= (Slmpllfy your answer.) 6
3/ ‘f % M},( ~

What is the domain of f— g? Select the correct choice below and, if necessary, fi Il in the answer box to completé your

choice. (,-Z \ _ { Py H"x
N - # :,: Vs e L {:? w 7 a L\_ m \;.I
s X "f / ’2 =3 2 . ]
./ A. The domain is {x| - } — —— ("% 22 J
(Use integers or fractions for any numbers in the expresswn Use a comma to separate \\E__ —
answers as needed.) /
) B. The domain is {x| x is any real number}. ( o —))/X/)

(©) Find (f+ 9)x). //y/ « IX]
(feg)(x)= | (Simplify your answer.) ( S)( "/;g 7{/3/( — (f)

What is the domain of f+ g? Select the correct choice below and, if necessary, fill in the answer box to complete your

choice. / S")/Z "—2(/)('1’2 7)( _?/2_ =

" A. The domain is {x| b,
(Use integers or fractions for any numbers-in-the expression.-Use-a-comma-to- separate =
answers as needed.) 7 i

! B. The domain is {x[ X is any real number}. ¥ M PY SN e -
(1 I/ .3 /,,w» L( :“g:)

(1 . , 7
(d) Find g (x). Lol -~ .'[ )) ye= Yoy T,
"9 (x) ! o
[i} x)= | (Simplify your answer.) / N p
g  — 2 § - (

L ) Q&d/”f?l«\

f
What is the domain of —? Select the correct choice below a |f necessary. fillkin Lhe answer box to' wmmete your choice:~

(Fre)eq = 2xes
the expression. Use a comma to separate

73/&/ X )rs
Loy 325 /o

A. The domain is {x|
(Use integers or fractions for any numbers i
answers as needed.)

B. The domainis {x| X is any real number}.

(e) Find (f + g)(4). (

8 of 82 " . - 11/42019,7:47 AM




finalm1314COCI111sulllljjRZZ16N-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

(f+ g)(4)=:' -: (Type an integer or a simplified fraction.) (1/— 9)3// Z Z,)(‘f' / 3
) O Find (-9 /j /3) (%) r/Z
f-9)3)= (Type an integer or a simplified fraction. )(,[ -——/j ('1) 6 7 / g
(@) Find (- 9)). )T /9 \j//
o AN - 1) g__ﬂfﬁ-
(f-9)(2)= (Type an integer or a simplified fraction

(f ym’/c/ﬁ( v —2¢
([’7)(2) /st —fF702) 34
By < /s (2) F7(2) 73 €

Answers 8x +5 /“ /(?); /S(V/) T 7(;)(‘5 b
B. The domain is {x| x is any real number}(//w /) (2) éu -ff/ ¢ —
2x+13 ‘[/) (2) = 7%Y—3¢

B. The domain is {x| x is any real number}.

(h) Find [E] ().

f _ '
(5] M= (Type an integer or a simpli

15x% + 7x - 36 el
B. The domain is {x| X is any real number} 5)(; =

115 )6// = |

3x-4 3)(»/ t/

N éf)(w %‘—%7’

(Use integers or fractions for any numbers in the' expression. Use a comma to separate answers as needed.)

. (JL)(/) > ;

38

(f )/%’ =2

A. The domain is {x|

9 of 82 11/4/2019, 7:47 AM
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/U, For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.

f(x) =x - 1; g(x) = 2x° Qé"'))//} <

(a) Find (f+ g)(x). s kd S/ = J JATe )
(f+g)(x)=| (Simplify your answer.) (/ ~1)F (é{ ) / ( ,)z/ /)/ ) //'
X1 ox ¢

What is the domain of f+ g? Select the correct choice below and, if necessary, fill in the ansWer box-te-complete your

.
choice. / N ¥ A

__.—F"'-’--J

A. The domain is {x| }-
(Use integers or fractions for any numbers in the expression. Use a comma to separate

answers as needed.) ( / - ,;))[ )() -
B. The domain is {x| x is any real number}. / =
g — 5C K) =

q (b) Find (f- 9)(x). (1) -—(&,(1 = I gma-
f-g)x)= (Simplify your answer.) )( // - 2)( (,, 0& /}//
What is the domain of f - g? Select the correct choice below an and _if necessary, fill m‘fhé/answer box to complete your

choice. (-;:_ /) )( /’ )(/'_/’

A. The domain is {x| }.
(Use integers or fractions for any numbers in the expression. Use a comma to separate

answers as needed.) ).
( fesh)

: J - e
q (c) Find (f- g)(x). /C’” ¥ (/ i ol 7 )
_

B. The domain is {x| x is any real number}.

(feg)(x)= (Simplify your answer.)

What is the domain of f» g? Select the correct choice below and. if- naoessary. fillin the answer box'to cornplete your
choice. -~

Cazx?=2x%: 3
A. The domain is {x }

(Use integers or fractions for any numbers in the expression. Use a comma to separate
answers as needed.)

B. The domain is {x| x is any real number}. ' ",___ )){,/ 2 A A= ('J)(L
f ( = ; Z)( _.L':J
| f L
(d) Find (g]m. /!_f / ) Z,

P .

) (£ ' A~ ¢/
[iJ _;—. ' (Simpli ‘j(——) l/h/(i PG (/\
g (x) = (Simplify your answer.) - v J—\\_ C ’(/)/L

= >
2XT / ( 2
What is the domain of — g —7? Select the correct choice below and, |f ngecessary, f Il in the answer box to: mmplete your choice.

-‘/-{ //}/"(/’}-Z/)( z’f /
., ((Jf;)ﬂ): 2(3) %+ ()~
the expression. Use a comma to sggar te
r;f/?‘(}) < a(,s)/,w ~)— 1

(€) Find (F+g)(3). Cfl)(sj ZO ™ e

10 of 82 11/4/2019, 7:47 AM
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(Use integers or fractions for - any numbers i
answers as needed.)

B. The domain is {x| x is any real number}.
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(ﬁj//)(/: ~ U=/

f+9)(3)= ' (Type an integer or a simplified fractio : ; 3
o oo = /(%) =209 L+ Co)—/
= o ¢ Lo Jre) =2 e (7)1
(f-g)4)= (Type an integer or a simplified ’/I.wn) /}c/ ’Z (/ C) _/_[9,/ -/

)(9) Find (f+ 9)(2). / Y ) c),/ —32+% ,_"/
(fe9)(2)= (Type an integer or a snmpllf'e raﬂ/ /?) o a q ~ b
(h) Find( J(3) (/)/2)(/ - 2y ~Z>(

( ](3) (Type an integer ora3||11pln"ed(l"[cuc?r/(’2 l (Z) —Z (2) .
(/ 5)(2) =2(2)(2)(z) — 2 () (2)

Answers 2x° +x - 1 ( 7/( 2) / 6 - &7

/fﬂ) ,j

B. The domain is {x| x is any real num ——

-2x2+x—1

2x -2x

B. The domain is {x| x is any real number}. (4( ) g

B. The domain is {x| x is any real number}. }/
( 3 ’(/ Z;( L

,-.—-

x=1 (7(,'5)

2x°
A. The domain is {x| ’} f) (/S) . /‘(j)(5)

(Use integers or fractions for any numbers in the expression. Use a comma to separate answers as needed.)

- (%é)/}/ P o

-29

O] ®
[j\
~5

r
,. -
\\//

ID: 1.1.69 —

21. f(x + h) f(x)
Find the difference quotient of f; that is, find —————, h#0, for the following function. Be sure to simplify,

f(x) = x2 —3x+3({“(rw’ﬂ1) f?) —'()("B/rf}f/ —
I f"/(ﬁ’f*’)_)/_ 3hts —X Lr_?_)(fg .

=|
h s
/ ;’] /Z ?.,-'/ ’k__‘r/
Answer: 2x+h - 3/(/_(, /J‘(A'f})(l.rf/a ~5}/"//Pt_} —/)( —1_)_;:__/"_ i
ID: 1.1.83 2)(/(#,:- AZ.\g;; X — f;_z - 24 .
2 y T Ta 4 4
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22. Given f(x) = x2 - 2x + 2, find the value(s) for x such that f(x) = 10.

The solution set is {] - }‘
Answef:—zibl: X k. lx 1 =02

ID: 1.1.91 F o=l A

https://xlitemprod.pearsoncmg.com/api/v1/print/math

)(L —72x -~ = o

(/ f()é( S T

g A°F "
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rgi. Determine whether the graph on the right is that of a function by using the vertical-line (\ Ay
test. If it is, use the graph to find the following. 8 0 {i\’ i

(a) the domain and range
(b) the intercepts, if any
(c) any symmetry with respect to the x-axis, y-axis, or the origin

Does the graph represent a function? Choose the correct answer below.

A. Yes, the graph is a function because every vertical line intersects the graph in more than one |
point.

B. No, the graph is not a function because a vertical line x = - 1 intersects the graph at only one

point.
<?/é _Yes the graph isa functlon because every vertlcal Ime intersects the graph in at most one
—paint—— — - =—= =
D. No, the graph is not a function because a vertical line x = - 1 intersects the graph at two
points.

(a) What are the domain and range of the funchon’) Select the correct choice below and, if necessary, fill in the answer

box(es) to complete yourchaice (/-‘ ‘) V4t J () ﬁ/f,,,,/ 729,&)

éﬁf' A. Th{dcmam is ( l/ C ) . Th range-ls (;“ "»)".7: 5)

(Type your answers in interval notation. Use integers or fractions for any numbers in the
expressions.)

B. The graph is not that of a function.

(b) What is/are the intercept(s)? Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

A. hemtercept{s} is/are ( / O)

(Type an ordered pair. Use a comma to separate answers as needed.)
B. There are no intercepts.
C. The graph is not that of a function.

(c) Determine if the graph is symmetric with respect to the x-axis, y-axis, or the origin. Select all that apply.

[] A. The graph is symmetric with respect to the origin.
[] B. The graph is symmetric with respect to the x-axis.
[:] C. The graph is symmetric with respect to the y-axis.
<. The graph s o symmetry. >

[ ] E. The graph is not that of a function.
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Answers C. Yes, the graph is a function because every vertical line intersects the graph in at most one point.

A. The domain is (—-2,0) . Therange is (= 00,3)

(Type your answers in interval notation. Use integers or fractions for any numbers in the expressions.)
A. The intercept(s) is/are (-1,0) .(Type an ordered pair. Use a comma to separate answers as needed.)

D. The graph has no symmetry.

ID:1.2.19
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4

Determine whether the graph is that of a function by using : 3
the vertical-line test. If it is, use the graph to find (0 ‘

(a) its domain and range. t
1,1y 1 (1.1

(b) the intercepts, if any. SR e
(c) any symmetry with respect to the x-axis, y-axis, or the “‘_‘5" pod :_;_"*{ IR 5’ >

(4 {47

Y

Is the graph that of a function?

& Yes
T Yes

= - _.-No

If the graph is that of a function, what are the domain and rangje of the function? Select the correct choice below and fill in
any answer boxes within your choice. (/¢ Vish# ( P
k/ ( / 2 . AL"' jf:%bf—\/ fL /)
)&domain is "2‘ J )f) The(anga is ("— Ve ]&

(Type your answers in interval notation. )
B. The graphis not a function.

What are thintercapts‘? Select thF correc_t c f’if‘? t?low and fill in any answer boxes within your choice.
AN TRTEL A e Lo ke
A (=2,0) (2,6) (0,1
(Type an ordered pair. Use a comma to separate answers as needed.)
B. There are no intercepts.

C. The graph is not a function.

Determine if the graph is symmetrical.

A. It is symmetrical with respect to the origin.

B. It is symmetrical with respect to the x-axis. .

\\ ‘f’t} It is symmetrical with respect to the y-axis.

D. The graph is not symmetncal

E. The graph is not a function.

Answers Yes

A. The domainis| (=o0,00) .Therangeis (= o00,1] .(Type your answers in interval notation.)

A. (_2,6},(“— 2,0),(0,1)E(Type an ordered pair. Use a comma to separate answers as needed.)

C. It is symmetrical with respect to the y-axis.

ID: 1.2.21
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/25. Using the given graph of the function f, find the following.

(a) the intercepts, if any

(b) its domain and range

(c) the intervals on which it is increasing, decreasing, or constant
(d) whether it is even, odd, or neither

Ly

M o= 2 -
(a) What re the’miercepts? )[,,_v”a ‘4;,1 4G ,;/,_

gﬁ(,u) 2,3) (0;7)
(Simplify your answer Type an ordered pair. Use a comma to separate answers as needed.)
’(b) The domain 55 — 3] &= //“ / //)</J

(Type yo ranswer in mterval notation. )

a(TTp nge is [() . (/; ﬁbm 72};/]

our answer in lﬁterval notation.)

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within your
choice.

A. The graph 1(ncreasar% on (‘“( (’)—] [_— Z 3]

(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not increasing on any interval.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your
choice.

A. The graph ts@eesmg on [' % ’] [a) ZZ

(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your choice.

A. The graph is constant on

(Type ‘your answer in interval notatlon Use a comma to separate answers as needed.)
.

C ‘(-B The graph is not constant on any interval. -

e ——

(d) The functionis (1)

(1) even,
odd. —
14 neither odd nor even >y

B ="

— e
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Answers (- 1,0),(2,0),(0,1)
[-3.3]
[0.3]

A. The graph is increasing on [-1,0],[2,3]
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on [-3,-1],[0,2] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) neither odd nor even.

ID: 1.3.25
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/6. Using the given graph of the function f, find the following.

(a) the intercepts, if any .("\” " ! ¢ '
(b) its domain and range oo . ) 2 )" (L’) (/ 0) ~
(c) the intervals on which it is increasing, decreasing, or constant ‘ iR

(d) whether it is even, odd, or neither

A -
( (a) What are the l@rcepts? ;’ =

\/]/"\L"Uwf‘ ) \‘(‘-.rf“ d / ._Sz/-—- c: )
(Swnph% your answer. Type an orde‘éed pair. Use a comma to separate answers as needed.)

'qb) The omainj‘s i y 3] Lf—»-'{/ /,.ﬁ Vf)/E
(Type yo r-answer in mtewal notation.)

q angels ! ?éﬂ/ (h" /fd w) 70)4?2
(TV

ouf answer in mterval notation.)

l S e }(ﬁ_ 4 feeq7 L

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within your
choice.

= 2 ) j
A. The graphEmcreasmg on [ ) > :

(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not increasing on any interval.
On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your

choice.
= () 1}

A. The graph js décreasing on
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your choice,

G ' 1 = '1 ) j
“A. The graph ig'constant on’ ( )/, / [/} ¢

(Type your ansSwer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(d) The functionis (1)

(1) odd.
even.
_—T% neither odd nor even.
C% ) R il
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5
Answers (0,0), [EOJ

[-3.3]
[-1.2]

A. The graph is increasing on [2,3]
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on [-1.1]
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graphis constanton [=3,-1],[1,2]|.
(Type your answer in interval notation. Use a comma to separate answers as needed.)

(1) neither odd nor even.

ID: 1.3.31
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3.75 s

LS

27.  For the graph of a function y = f(x) shown to the right, find the absolute maximum
and the absolute minimum, if they exist. Identify any local maxima or local minima.

| L w1

(A Z)) / " A

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice.

A e ) --."_"-.‘ Ll .
T A. Thegabsolute maximum/of y = f(x) is f( )> )= 7 OK / 3 ) 7)
(Typée Integers or simplified fractions.)
B. There is no absolute maximum for y = f(x). [ = 5 }/V) / ,.\

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice. - I
o - N A A C / { )
(7 A. Thegbsolute minimum of y = f(x) is f( \ )= ' : ()f/ J
(Type integers or simplified fractions.)
B. There is no absolute minimum for y = f(x). [ / M & £

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice.

‘ , O 3.7 )
A The local maximum of y = f(x) is f( 5 ) = 7 i - ( 7 "/

>
(Type integers or simplified fractions.)

B. The local maxima of y = f(x) are f( )= and

f( )=

(Use ascending order with respect to x. Type integers or simplified fractions.)

C. There is no local maximum for y = f(x). ( ( I, )
) € -

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice.

ofa

- The local minimum of y =f(x) is f( [ ) = ( : () I
(Type integers or simplified fractions.)

B. The local minima of y = f(x) are f( ) = and

L G )=

(Use ascending order with respect to x. Type integers or simplified fractions.)

C. There is no local minimum for y = f(x).
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Answers A. The absolute maximum of y = f(x) is f( '

https://xlitemprod.pearsoncmg.com/api/v 1/print/math

7 .(Type integers or simplified fractions.)

A. The absolute minimum of y = f(x) is f(

1 ..(Type integers or simplified fractions.)

A. The local maximum of y = f(x) is f(

'.(Type integers or simplified fractions.)

A. The local minimum of y =f(x) is f(

.(Type integers or simplified fractions.)

ID: 1.3.51
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A The function f is defined as follows.

-3x+5 ifx<1
f(x) =
4x-2 if x=1

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

(a) The domain of the function fis | (-( , R ) ( /" ’/ f} V’j( £ )

(Type your answer in interval notation.)
(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

© A. The intercept(s) islare ( a,.5 »' M~ VNI“"" wr
(Type an ordered pair. Use a comma to separate answers as needed.)

() B. There are no intercepts. I

éc} Choose the correct graph below. r NS
'v” 4

OA. O B. O C.

(d) The range of the function fis |
(Type your answer in interval notation.)

Answers (- 00,00)

A. The intercept(s) is/are | (0,5) | C ( ' ;
(Type an ordered pair. Use a comma.to separate answers as. needed ) 1 - ' A

(\/M//w L \ R

/Tl’ M1 - \
_ A
—~ i AL .
D. X / '\
[2,00) L/ i O
ID: 1.4.33 B < : - _4
7 = /‘"/‘_) //’/ﬂf p 71‘}“‘/)‘/}7 2 / "\,\
\ vl ol e )
/ ?/ SJ‘ -F— < ( / /
\‘n._(; (7 / X ~aN) i“{L (; L (
‘H‘“'n,i ™~ | J)(-’
\R ];:’ %{._ﬁéf CX>>D Ck{&
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A The function f is defined as follows.

4+x ifx<0

f(x) =
X2 ifx20

(a) Find the domain of the function.
(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range

(a) The. ddméi_r; of the function fis | g D= [ )
(Type your-answer in interval notatioh.)

(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your choice,

() A. The intercept(s) is/are it - :
(Type an ordered pair. Use a comma to separate answers as needed.)

'C) B. There are no intercepts. /(; A

(c) Choose the correct graph of f(x) below. ~

.z-'-“"l ;
(d) Thérangeofthe function f is / ?" < )g g

(Type i?our’ answer in interval notation.)

Answers (= 00,00) / \

. i o
A. The intercept(s) is/are (- 4,0),(0,0) . |
(Type an ordered pair. Use a comma to separate answers as needed.)

C \
(= 00,00) > J
~
ID: 1.4.37 %//) //7',;//7

/W_

G4+ x “*/)(<‘”)) € rzy
2/\’\) }//“J/H</f$ {

(X>(7J are O}
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W The graph of a function fis illustrated to the right. Use the graph of f as the first step
toward graphing each of the following functions.

(@) FO)=f(x)+3 (b) G(x) =f(x +3) (€) P(q) = - f(x)

1
(d) Hx) =f(x +1) -1 (&) Q(x) = =f(x) () 9(x) =f(-x)
2

(9) h(x) =f(2x)
(a) Choose Eh_e correct graph of F(x) = f(x) + 3 below.

e 4 e

(b) Choose the correct graph of G(x) = f(x + 3) below.

() B. (e

= (d) Choose the correct graph of H(x) = f(x + 1) - 1 below,” ., £ t‘ik“‘“ h =g
. = ( sh % .
0 N\
A Cmh it 18T C. = 71N
, (B 51{1 / 3 I,-J
(,’.'.-"/
/
f
/

1
(e) Choose the correct graph of Q(x) = Ef(x) below.
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e b 2, .
= 2 4 https://xlitemprod.pearsoncmg.com/api/v1/print/math

(f) Choose the correct graph of g(x) = f( — x) below.

O A O B. Oc.

(g) Choose the correct graph of h(x) = f(2x) below.

O A O B. OcC.
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Answers

ID: 1.5.63
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31.
V (a) Graph f(x) = |x - 6| - 3 using transformations. Ay

(b) Find the area of the region bounded by f and the x-axis 197

that lies below the x-axis. Al
ﬁ- (a) Graph f(x). ]
(Use the graphing tool provided to graph the function.) 'l__

(b) The area of the region bounded by f and the x-axis that

lies below the x-axis is square units. =

(Simplify your answer.)

v”

Answers

ID: 1.5.81
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32. Factor the polynomial completely. If the polynomial cannot be factored, say it is prime. Be sure to look for a greatest

6 (6] ) = w
- 36q2 +6q+12 (\ Q,Mg() ~+ I) u/

Select the correct choice below and, if necessary, fill in the answer box to complete your choice

common factor.

A _3q2 +6q+12=

() B. The polynomial is prime.

Answer: A. - 36q2 +6q+12= -6(3q-2)(2q+1)

- ID: P2.1.21 -
33, Factor the polynomial completely. If the polynomial cannot be fat?ored say it is prime. Be sure to look for a greatest .L’f":"‘
common factor. 2% T EC |2 — )’[’_;2" - [ \;
. ) i 2 9.\ /
C6W  4+l(w +3)= £’
¥ (
P

24w? + 44w + 12
Select the correct choice below and, if necessary, fill in the he answer box to complete your choice. \
, (Q W o+ ) (zw’# 3) /
LA 24w + 4aw+12= g
¢ B. The polynomial is prime.
Answer: A. 24w2 +44w+12=4(3w+1){(2w + 3)'
ID: P2.1.23
34. Factor the polynomial completely. If the polynomial cannot be factored, say it is prime. Be sure to look for a greatest
common factor. ) ) f i ,
2 X _f X T‘/’\/ = / @

2x° +6x° +4x 7 K X & —+ 3x -+ l)

lin the answer box to complete your chorce

Select the correct choice below and, if necessary, fi
A 23 462 4 ax s e L 7( ()( "(' (})(/{("#
—

(1 B. The polynomial is prime.

Answer: A, 2 + 6x2 +4x= 2x(x+ 1)(x + 2)“

ID: P2.1.25
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3x —-14x-24=0

({ﬁc (-—/y) +(/(i‘9/‘"‘f(’j(—w)
b=y =ty == )
The%olujtion setr?s:{. b Q 7{, _(mf,c:,_- 2( 3

(Type an exact answer, using radicals and i as needéd. Use integers or fractions for any numbers in the expression. Use a

comma to separate answers as needed.) = / Y"”[// 76 285
‘/TZ( /¥t
Answer: 4 - o é [t ,4_———___.6
6,-3 Zd O/’ i //Z g c?‘f(/

‘/ = [¥zt 2

'-(
ID: Quick Check P2.2.2 r) O/L *E

36. Solve the equation using Uad% \_/af-) ~‘( ¢ (__)"’E:-"f’mék___.; . -
e 2 ?
x? - 7x-44=0 ~ +(/Yq 1176
0\ T LEY 2y e (7)r T o TS
The solufion set is { b . 2 CL)
(Simplify your answer. Type an exact answer, using radicals and i as neetled. Use integers or fractions for any numbers in

the expression. Use a comma to separate answers as needed.) - 7 f(/ é? N

75 g EE

Answer: -4,11

o A I

ID: P2.2.11

37. Solve the equation using the quadratic formula:

3x% -x~10=0 B
The solution setis { .
(Simplify your answer. Type an exact answer, using radicals and i as needed. Use integers or fractions for any numbers in
the expression. Use a comma to separate answers as naede

(< IO

Answer: 5
3 ( . / '-fﬁ /_/,ZT_.

ID: P2.2.13 G

= X/’ — { "f’ // ~ ——

)(:/’(“/f O /(b.//’i/

- //o
o K< &
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38. (a) Solve the equation x> — 3x - 10 = 0 algebraically.

(b) Graph Y, = x2 - 3x - 10. Compare the x-intercepts of the graph to the solutions found in part (a).

(a) x= .
(Simplify your answer. Type an exact answer, using radicals and i as needed. Use integers or fractions for any numbers in
the expression. Use a comma to separate answers as needed.)

(b) Graph the function Y = x2 — 3x - 10. Choose the correct answer below.

o, o e B.

N

/--" \\Jf R R \\

A

! \

\~L1_5_1§£'>,5] by [ - 35,5,5] window [~ 5,35,5] by [ - 5,35,5] window
C. e o D.
IV
! I — - __ N .
Ao T
1y U e ‘
[-35,5,5] by [~ 35,5,5] window [-35,5,5] by [-5,35,5] windo )/4 }1 'y
How do the x-intercepts of the graph relate to the solutions of the equation? C< / Cw / < bos /
A. The x-intercepts of the graph are opposites of the algebraic solutions. \1
B. The x-intercepts of the graph are opposite reciprocals of the algebraic solutions. — R
C. The algebraic solutions are the same as the x-intercepts of the graph. e = )
. n i . 7, . L / y \ ."‘
D. The algebraic solutions are reciprocals of the x-intercepts of the graph./" & / P ’S )( , ¢/ /
,'/ C\J Lea b/!: W/ _\} ’ /
Answers 5, -2 h — { s o
17 e | /f’ Wia X < 5) \ N\
\J I'*..,I L) . y <l "3 S "‘.I 1|
. ““._ L:l[' A '.( , er"'\ LY
i Ny~ T §
A Lt [-5,35,5] by [~ 35,5,5] window
C. The algebraic solutions are the same as the x-intercepts of the graph.
ID: P2.2.63
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39. (a) Solve the equation 2 + 8x + 16 =0 algebraically.

(b) Graph Y, = x2 + 8x + 16. Compare the x-intercepts of the graph to the solutions found in part (a).
(a)x=
(Simplify your answer. Type an exact answer, using radicals and i as needed. Use integers or fractions for any numbers in

the expression. Use a comma to separate answers as needed.)

(b) Graph the function Y, = x2 +8x + 16. Choose the correct answer below. All graphs are shown ina [-10,10,1] by
[-10,10,1] window.

A. B.

-
\N
eols s e d s ek ..t\A/T..“__....
: E Y .
o E ’ “
7 . \
-

How do the x-intercepts of the graph relate to the solutions of the equation?

The x-intercept of the graph is the opposite of the algebraic solution.

The x-intercept of the graph is the opposite reciprocal of the algebraic solution.
The algebraic solution is the same as the x-intercept of the graph.

oOo0we>»

The algebraic solution is the recnprocal of the x-mteroept of the graph.

/’u"vw/l}W

X—ia = —~ LN

\/ /( /"’16\,6 /L
P ,L;,.“A..J ‘9/}44 1.,)1"" /2 ’,
D. \\.)//"4‘)( /O j

C. The algebraic solution is the same as the x-intercept of the graph

Answers -4

ID: P2.2.65
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40.

320f82

Suppose that a company has just purchased a new

(Round to the nearest dollar as needed.)

https://xlitemprod.pearsoncmg.com/api/v1/print/math

(x)

computer for $2100. The company chooses to depreciate 2400
using the straight-line method for 7 years. 7 / ¢ )
(9

BN
(a) Write a linear function that expresses the book value of 1800- {
the computer as a function of its age. \
V(x) = 5 S
(Type your answer in slope-intercept form.) 3 \
(b) What is the implied domain of the function found in part 3 1200
(a)? s \

9 \
[I— “ \
(Type your answer in interval notation.) 600~ w
(c) Use the graphing tool to graph the linear equation. ' :
(d) What is the book value of the computer after 2 years? N \
g A Qb en fj}' M ﬁngj)
— /J";( /I.‘)’k ) - T T T T T T & T >
a 2 3 4 5 6 7 8 9x

(e) When will the computer be worth $9009 £ (/ // f_’j‘_,ﬁ'f

After

$900.
(Type a whole number.)

year(s) the computer will be worth

..-k-“

‘7,, (2/("))2_ (cf/(kj-—L)

Age {ypars)
8ye/e) (7
(4T (f(/«a, ,(:

)_LJ(
Lot

Ai=Xe

/ P _r’r?,D

( @) —(7)
Answers —300x +2100 (9 ,2/ 0L = 2/ oo pu(«)( )
ol : o
[0,7] o=}
Nix) V) —2/00 — ‘%.L—;i—’ (=)
2400+ \ﬁ — Z/JO g _3 o5 §<
' A~ 2/ g0 A 245G < ~3 M Aep 2y 20
1800+ e —————
(T ey
E 1200~
g
g
BODH
0 ! L T T T b T >
0 1 2 3 4 5 8 7 8 g X
Age (years)
1500
4
ID: 2.1.51
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41. Find the zeros of the following quadratic function by factoring. What are the x-intercepts of the graph of the function?

T —
g0) =x(x+11) +30 X“F//x+50 =0

Select the correct choice below and fill in the answer box to complete your choice.
(Simplify your answer. Use a comma to separate answers as needed.)
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X (1) #3207

The zeros and the x-intercepts are different. The zeros are , the x-intercepts

) A. : ol =
w0 e DA 6) = o
() B. The zeros and the x-intercepts are the same. They are ) s
Ny =0 O fr6 =2
Answer: B. The zeros and the x-intercepts are the same, They are -5,-6

I("l( S-d_.__s_'.'-_--_u""\ ()ff /(,756,_(“ P ke (<N

ID:2.3.23 (’/»; 5 ) Oﬂ(’)(
_— e — —
42. Find the zeros of the quadratic function using the scéuare root method. What are the x-intercepts of the graph of the
function? - 4 -~ .
Ak (f-6) Cor —o
= 2 ’
g(x)=(x-8)° -25 ) L g 2 7
Y~G) - :

Select the correct choice below and fill in the answer box to complete your choice.
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.)

- —--—-..,__H‘-
L

(O A. The zeros and the x-intercepts are the same. They are

o The zeros and the x-intercepts are different. The zeros are , the x-intercepts
B. = - =
a N L — A7
/ ox) - =V
Answer: A. The zeros and the x-intercepts are the same. They are 11,1
; AN —6 — .
X//W/G/: ¢ (JgA HA(rCc 5EGC

re

ID: 2.3.29
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—

’ . ~
o \ - -, \T\
43. Find thhér;s,' if any, of the quadra{ic function using thQJadratlc formula )Nhat are the-x-intercepts, if any, of th 913 ph—
of the flinction? ,[ ) T 3K TSI KA G (,(/( L ‘-’"‘(4L : a—(/u}'f /_}/a-‘f'((s)(o)
fx) = 3x% +6 +10x L C3) =
A=Z3 bs/o €= @ [ = ,{/ o U (//(/"‘ et
Select the correct choice below and if necessary, fill in the answer box to complete 1yc\ur “choice.
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to

separate answers as needed.) )( S / ) r-f/\- /z @ﬁ?
¢ A. The zeros and the x-intercepts are the same. They are i =
~ o€ U St

) The zeros and the x-intercepts are different. The zeros are , the x-interceptsX s BLASE -
() B. : &
are . = =
o “Ti n"r‘ .
() €. There is no real zero solution and no x-intercept. X - "/_ 9_ L _(;,_[_.6_—/

&
84T 5=y {, —/>+2V7
3 3 '

Answer: A. The zeros gnd the x—inte]_r;:*epts are the same. They are | — C
g - ~ —\‘%;_‘ 1 — i /
- =
\‘\ '._5_'1_}__/ /( 34/[
X T N (s

| zeros df the function. What are the x-intercepts of the graph of the function?

Find ther
g(x)=x-34/x -28

Select the correct choice below and fill in the answer box to complete your choice.

(v A. The zeros and the x-intercepts are the same. They are

The zeros and the x-intercepts are different. The zeros are , the x-intercepts

(JB. are

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.)

Answer: A. The zeros and the x-intercepts are the same. They are | 49 l

B Y
ID: 2.3.75 / 24~ 2 (/_
A~ 2® Lo gud’

ca’)(/ 23] ~ (3) ((//
;((( LixX-2IK T TV~ O3]

vi— SEx 7y 7X
be L ,,_/(/6/(—7"7}7%"7/ -
(L —6sx+#78v = O
(X — /)X —%9)

S Qe ot s

34 0f 82 11/4/2019, 7:47 AM



@ %r/ A
it N~ 9 =o

X—/6 =0
(- pFEE 0T/ ¢ O  N—y57 95~ 07¥%7




finalm1314COC111sulllljjRZZ16N-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v 1/print/math

- et b
45. Findt real zeros of the quadratic function usmg anﬁ‘nethod you wish. What are the x-mtercepts if any, of the graph of
the function? ™ Q( ~b U.:, —racy — (4] *i'l/(_) ) (=) ~
= 10x2 IS _ 2 Cr2) "
G(xﬂ){ 10x +9x' ?} c: _‘___‘_______1 f [T\.Lb“' ,—-C—i j-t,’f ;‘f_{ P
g ) LM £ [TTEe
Select the conréct choice’below and ﬁII in the answer box to complete your choice. 2>
< TS -
i) A. The zeros and the x-intercepts are the same. They are e g -
oY
The zeros and the x-intercepts are different. The zeros are , the x-intercepts ,.fl + 2/
) B. are . —
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.) . c? f 2/ o -—C("' ~Z
T2 2o
33
Answer: A. The zeros and the x-intercepts are the same. They are 25 ’_Z W — 12
| ok otz
c.(’}/_/: ¢ [0C3) S
-~ —y g /( i -
ID: 2.3.81 A2 aa f“’/ (2D
- = = — ". :)‘.“/-" < U .—}2 \

e p——— i
p— — ———————.

4 46. F|nd the'real zero?of the quadmﬂc function usmg@y method. ynu wrsh What are the x-lntercepts if any, of the grap_
¥ i .
the function? (X .—-L;"‘(/f‘ rec __(l) "K/( i)é 9,'2/()

) =x2 +x -1 CAN /,JL»S awis
as( |, b, €IS ST
Select the cérrect cholée below and fill in the answer box to complete your ch0|ce _— ( T -

"2._
() A. The zeros and the x-intercepts are the same. They are q - [ = U_S

The zeros and the x-intercepts are different. The zeros are , the x-intercepts ) L

-,

) B. a2

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use @ comma to
separate answers as needed.)

Answer: A. The zeros and the x-intercepts are the same. They are

ID: 2.3.87
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47.
Graph the function f(x) = - N 4x by starting with the graph

ofy= e and using transformations (shifting,
stretching/compressing, and/or reflecting).

S Use the graphing tool to graph the.‘funcﬁﬁf.’_ P L/l/ N
y U e %)
e f,w"ﬂ : 4
X 1

InA W)

v

\{ 71T v 1T 7" T ° T T L/ LI
. ?1. ™ LWVAPD / f0' 8 6 4 2 2 4 6 8§ 10

l‘\/\/ [V G‘"JW

L e i
I/ 1

= =

Kf“wx—

—_ r"’/l;’

LA " / by T

ID: 2.4.29
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L/t,k'.fr.

or the quadratic function f(x) = x2 +4x - 5, answer parts (a)

20+

through (c).

16~
(a) Graph the quadratic function by determining whether its !:2-.‘
graph opens up or down and by finding its vertex, axis of 1
symmetry, y-intercept, and x-intercepts, if any. 8-}
Does the graph of f open up or down? 44

o X

(AL 20 50,0 0 e e L

up 20 -16 -12 -8 -4 4 8 12 16 20
down 5
-8

What are the coordinates of the vertex?

The vertex of the parabola is

(Type an ordered pair. Use integers or fractlons for any 16
numbers in the expression.)

20
What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

B. There are no x-intercepts.

What is the y-intercept? Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

A. The y-intercept is
(Type an integer or a decimal.)

B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of f is
(Type your answer in interval notatlon )

The range of f is
(Type your answer in interval notation.)

(c) Determine where the function is increasing and where it is
decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

38 of 82 11/4/2019, 7:47 AM
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R R ="

. )
< - mn
}‘\M 1t _/

Answers up - ELA "“)’/ - A 2 q a ¥
9 g Pt 23
( s ) "_»"'—‘ éc. GV‘(_ . a;&' /
Xx=-2 _./ Ii‘t S' A i ) 1\ L_
S , g Sche "{j C dueble
A. The x-intercept(s) islare| =51 . o 2 2l & donl G

‘as needed.) 7()"‘\

- 0 "

(Type an integer or a decimal. Use a comma to separate a

A. The y-intercept is | -5 —'.(Type an integer or a2 decimal.) /ﬂ ,g‘_,v‘ )

[-9,00)

[-2,00) AR /Z/

o2 )(/ MAX
’ M ) j':; ""'/-..-"

1

ID: 2.4.37 ( \7 - -
= I-LQ_QK - /‘)
= ¥

390f82 11/4/2019, 7:47 AM



finalm1314COC111sulllljjRZZ16N-Alfredo Alvarez

P
-

40 of 82

For the quadratic function f(x) = - 2x% - 2x - 1, answer parts
(a) through (c). Verify the results using a graphing utility.

(a) Graph the quadratic function by determining whether its
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any.

The graph of f opens (1)

The vertex of f is I 10 8 B -4
(Type an ordered pair.)

The axis of symmetry is .
(Type an equation. Simplify your answer.)

Determine the y-intercept. Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

A. The y-intercept is
(Type an integer or a decimal.)

B. There is no y-intercept.
Determine the x-intercept(s). Select the correct choice

below and, if necessary, fill in the answer box to complete
your choice.

A. The x-intercept(s) is/are

(Type an integer or a decimal rounded
to two decimal places as needed. Use a
comma to separate answers as
needed.)

B. There is no x-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of f is I
(Type your answer in interval notation.)

The range of fis I
(Type your answer in interval notation.)

(c) Determine where the function is increasing and where it
is decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

The function is decreasing on the interval
(Type your answer in interval notation.)

https://xlitemprod.pearsoncmg.com/api/v1/print/math
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(1) O up.
) down.

Answers (1) down.
1 1
~5 g

x=-7

A. The y-intercept is | -1 'I'.(Type an integer or a decimal.)

)
' < et

B. There is no x-intercept.

Y«.

ID: 2.4.43
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(. W:Q(Xffb}fcﬁ H - -—5/«1(4 bes [3 /J)

Determine the quadratic function whose graph is glvan 1 JThe quadratlc functlon which describes the given graph is

below. ] = a (@ "'})z —/5 f(x) = Y
0«('-'3) — > (Type an expression.) - / ()( = 6)(‘7'7) —t 2>

( )Fr)j

50.

Ay — =
s ((.-—’)) 3)//‘/ ,,.J C/ — 2
(‘, ajﬁ7/~/I g X X’#éx*ﬁ ’
S ~ 9g& c—1< ~
.-f\ = /‘ “f’/" .
s 8 Q or—1 )
> / ,,.-"
qbéi |1tjk’/
g 74>
;

Answer: 2 _ gy — 1 9 . I

_ Ipi24ds %_;_1_LL_ N

51. Determm out graphi ; ther the given quadratic fu ctlon has@um; value or a minimum value and then find
the value. (vt —t s # 7€5¢ /J)m 2 S :T,_ a P
L J zﬂ c (r . .‘
= i o B/ 4
f(x)= - 2x° +4x—5 / L f

Ly eah e vide (o J ) )

Does the quadratec functnon f héve a minimum value or a maximum value?

= / -
() The function f has a maximum value. V(/'ﬂl — / __,[ & ) / ('f} ) )

(") The function f has a minimum value. ( 1) 2(-3)

What is this minimum or maximum value? L/e/ (ﬂ/( (, ‘ / / - ) )
%‘

L
(Simplify your answer.) L/ /]Z v /( ( / /{/ >

Answers The function f has a maximum value. ) )
_s V/uf(ﬁ}-¢()%y/0*§
ID: 2.4.59 VWL’( « (// ~L(N)(r) + (1) — 3"-)

r./wlw // —2 (D +¥(1) —5 )

l./'-'jig.x (/ 2%’) |

("’"""l‘/"'/lu // _.3) ) B

- o)

N /5% /_J N

H/4/2019, 7:47 AM
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52. Construct a polynomial function that might have the given graph.

Choose the correct answer below.

O A, f(x)=x2(x +2)(x + 3) il
O B. (x)=x*(x-2)(x - 3) /

e, (0=xx+2)x+3) i VO R —
O D. ) =x(x-2)(x-3)

Answer: C. f(x) = x(x + 2)(x + 3)

".F
ID: 3.1.73 Lv*z»»y(\ﬁv’ —,

= pa—— ) \ _ —
AT Pin s .
r % - il . N

//. "MA/’_- /L . o 'f,'—f‘:
] ( b ) i /)/ — x (X ¢ ) ( X775 )
, . I -

< @5/ 0) ar (~4,0) on (@ o) __—

N /.//(4 {ﬂrbw X"/V' J""}M’t_ E—— e b A nyf/‘
— bt g R W
"“-,_\\____-_-_—__
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53. Analyze the polynomial function f(x) = (x + 4)2(3 - x) using parts (a) through (©). =

(a) Determine the end behavior of the graph of the function. \7 | ( t/ 7 (I-) . 4 ) \.
fkﬁ '

The graph of f behaves like y = for large values o
(b) Find the x- and y-intercepts of the graph of the function.

The x-intercept(s) is/are
(Simplify your answer. Type an integer or a fraction. Use a comma to separate answers as needed. Type each answer only
once.)

The y-intercept is -
(Simplify your answer. Type an mteger or a fraction.)

(c) Determine the zeros of the function and their multiplicity. Use this information to determine whether the graph crosses
or touches the x-axis at each x-intercept.

The zero(s) of f is/are ' :
(Simplify your answer. Type an integer or a fraction. Use a comma to separate answers as needed. Type each answer only

once.)

The lesser zero of the function is of multiplicity | ,sothegraphoff (1) the x-axis at
X= . The greater zero of the function is of multiplicity ' , so the graph of f
2 thex-axisatx= '

(d) Determine the maximum number of turning points on the graph of the function.
(Type a whole number.)

(e) Use the above information to draw a complete graph of the function. Choose the correct graph below.

P £ e OB . )
7‘{} 1 1007
- 1
(— 7; J) / | i,
3 g
100
X
(1) ) crosses  (2) () crosses
touches touches -
(uw)@y)/ <) - .9
/ 7 .
(= ot Ktv == o
)(fS’ - Y4 v oo 2% 3
Koty 077 At ¥ 4 b )
(1D (=
4 _-},-' -
Fy 0,00 (495 "”‘*‘\ S ZER
( [”'""\ /’C"ﬂrﬁ' X'—’ML’/M"L | V—Jﬂ[{oﬁ} ) Q_ _,—"'.

— ——————
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Answers _,3

-43

48

-43

2

(1) touches
-4

1

(2) crosses

ID: 3.1.83
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54. Analyze the polynomial function f(x) = (x + 2)(x — 4)(x + 6) using parts (a) through (e)

(a) Determine the end behavior of the graph of the function. Q/”'— )( ' Z ) 6{ —& / K a )( ) ”__}‘I

The graph of f behaves like y = for large values of |x|.

(b) Find the x- and y-intercepts of the graph of the function.

The x-intercept(s) is/are |
(Simplify your answer. Type an integer or a fraction. Use a comma to separate answers as needed. Type each answer only
once.)

The y-intercept is
(Simplify your answer. Type an |nteger or a fraction.)

(c) Determine the zeros of the function and their multiplicity. Use this information to determine whether the graph crosses
or touches the x-axis at each x-intercept.

The zero(s) of f is/are
(Simplify your answer. Type an mteger or a fraction. Use a comma to separate answers as needed. Type each answer only

once.)

The least zero is a zero of multiplicity ,sothegraphoff (1) | the x-axis at

x=| . The middle zero is a zero of multiplicity | ,sothegraphoff (2)___________the
x-axis at x = . The greatest zero is a zero of multiplicity | , so the graph of f
B)— thex-axisatx=|

(d) Determine the maximum number of turning points on the graph of the function.
| (Type a whole number.)

(e) Use the above information to draw a complete graph of the function. Choose the correct graph below.

}" I; -I‘iﬂj

‘ -:f’ | {
;h“ APt -
(1) touches (2) crosses (3) crosses (/ “t /L/ / / —Y ) / /( s G / —

crosses touches touches '
(r2=0 gt [-yTo Of A7Te=o |
/’(er —~1=z0~& o XYty =OTS o XFC— 6 —C =8

=~ ot X’/; ) WL(\ H=-6) -

/0 Z)/od,o/a %)<
(r!)("‘/// 6/ " 7

"YJ/T /l\/)/’//W'/*'

o8 G T L
— = 11/4/2019, 7:47 AM

( )(
C (,)/ ( (5)” (5’ ) I

/(” ‘v-/;.‘, s X'- I'h -,!. £7/} /(./,f"l

\\ X;w\ Lz/ %{7'
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Answers ,3

ID: 3.1.89
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-24,-6
-48
-24,-6

1

(1) crosses
-6

1

(2) crosses
-2

1

(3) crosses
4

2
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95. Analyze the polynomial function f(x) = 64x - x3. Answer parts (a) through (e). [Hint: First factor the polynomial] ——
(a) Determine the end behavior of the graph of the function. - )( — )( N
‘7( oY
The graph of fbehaves likey=| ~ forlarge values of (x d\

(b) Find the x- and y-intercepts of the graph of the function.

The x-intercept(s) is/are
(Type an integer or a simplified fraction. Use a comma to separate answers as needed. Type each answer only once.)

The y-intercept is :

(Type an integer or a simplified fraction.)

(c) Determine the zeros of the function and their multiplicity. Use this information to determine whether the graph crosses
or touches the x-axis at each x-intercept.

The zero(s) of f is/are |
(Type an integer or a simplified fractlon Use a comma to separate answers as needed. Type each answer only once.)

The smallest zero is a zero of multiplicity ,sothegraphoff (1) the x-axis at

b =: . The middle zero is a zero of multiplicity ,sothegraphoff (2) | the
x-axis at x = . The largest zero is a zero of multiplicity ' , so the graph of f

@B)— Ithex-axisatx=
(d) Determine the maximum number of turning points on the graph of the function.
The graph of the function will have at most turning points.

(e) Use the information in parts (a) through (d) to draw a complete graph of the function. Choose the correct graph below.

-300

1 crosses (2) touches (3) touches (L/ )( "'-/( d ‘d
touches ") crosses crosses )/ ( 6 ¢ — /( / -
/ﬁ,/ Gy o)— K)/ . (/f) f-/w")
hi< 601 — Q) i e VTR )2
('-,‘ - )— O —'{E, .;-' | D 7 7//( =25
fe) ~ G ooyt FrdEe e

Ny
\
;

(0, 0) (7

(7 Q) (U)”)(// O _ &0) :

f;/ 4 =
(! 2 ] WeOvI
43Qf82 f(""’\r"’ gl AMeg) . y“!«; borp) T
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Answers _,3

-8,08

0

-8,08

1

(1) crosses
-8

1

(2) crosses
0

1

(3) crosses

ID: 3.1.113
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56. Analyze the polynomial function f(x) = X +3x - 4x. Answer parts (a) through (e). [Hint: First factor the polynomial.]
o J = N

(a) Determine the end behavior of the graph of the function. e - ] (/ /< \

U}} o ¥ ~t ¥, ,)(

The graph of f behaves like y = for large values of |x i

(b) Find the x- and y-intercepts of the graph of the function.

The x-intercept(s) is/are
(Type an integer or a simplified fraction. Use a comma to separate answers as needed. Type each answer only once.)

The y-intercept is
(Type an integer or a simplified fractlon )

(c) Determine the zeros of the function and their multiplicity. Use this information to determine whether the graph crosses
or touches the x-axis at each x-intercept.

The zero(s) of f is/are
(Type an integer or a simplified fractlon Use a comma to separate answers as needed. Type each answer only once.)

The smallest zero is of multiplicity ,sothegraphoff (1)L thex-axisatx=|
The middle zero is of multiplicity ,sothegraphoff (2)______ the x-axis at x=
The largest zero is of multiplicity - .sothegraphoff (3) L the x-axis at x=

(d) Determine the maximum number of turning points on the graph of the function.
The graph of the function will have at most | turning points.

(e) Use the above information to draw a complete graph of the function by hand. Choose the correct graph below,

—
.

yacyy \ B. C. D.

(e
T
40 (9 _, 53
(1) crosses (2) ¢ touches (3) ) crosses e ) c’
touches ) crosses () touches 3 ( V[

reo)ot X170 g x@y)f /.’"{)é?‘fl%)flfi—

o o b
-// Nott(2 07/ gu ftd=y =) ol “(@)r3 /)=y 1o/
C /{/ / Y o {”h ~¢f ';’o/f( // 0%)7‘3/0)/ 0) Y/
T o i sy ) H““-\-..x / Lo ) -~ O ’-’CQ
&,, é/ / J) / f/’ C) ) ( j/ o) ~ / /(/ ‘ .
&( ' / X —-/uf >/ Keta Lic o/ ) Al -
it _in?”qwqhaﬁ/ /k ) -

e

I

™~

50 of 552 o — - 742019, 7:47-AM—,



finalm1314COC111sulllljjRZZ16N-Alfredo Alvarez

Answers ,3

-40/1

]

-4,0,1

1

(1) crosses
-4

1

(2) crosses
0

1

(3) crosses
1

2

ID: 3.1.115
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57. Usethe rallonal zeros theorem to find all t‘hﬁ real zeros of the polynomial function. Use the zeros to factor f over the real

_ numbe[? )4 ¢ Qv 1, \ 3 I
U f{x x> +3x% - 33x - 35 ---/"'_— "{ £ 35
3 - . —3 ¢ (L > ) V€ van
in

Find the real zeros of f. Select the correct cho:?e below Jnd if necejary. fill in the answer box to complete your answer.
USe Spnthetic Jluu,/\, 2
OA' X= x t Z/)<P_*§( ’:«;L)
(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or
fractions for any rational numbers in the expression. Use a comma to separate answers as

needed.) (}\ = S/ (‘\'/“ /)

() B. There are no real zeros. _
\ il W ()-"( /\('(-'/ N

in Xrp—/Ae—)

Use the real zeros to factor f.

f(x) = X=Xty o e
(Simplify your answer. Type your answer in factored form. Type an exact answer, usmg radicals.as needed Use integers
or fractions for any rational numbers in the expression: ) 4 ?
N
¢ )1 ( /{/ ¢,

| (Xr /'/’/-I
Answers A.x=, =7, -1,5 e et

(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or fractions for any
rational numbers in the expression. Use a comma to separate answers as needed.)

O+ 1)(x+ 7)(x - 5) A7 Sarr J i< bl
| . \ Lest
ID: 3.2.45 r"/} -5!/. " ) Lk
3

’
- . W
7 5’3/ ’;_?/ r)/__":
e —— f_-‘ I/
g L T
F S om
= £l
g ( '\ |
) =

520f82 11/4/2019, 7:47 AM



finalm1314COC111sulllljjRZZ16N-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

58. Use the rational zeros theorem to find all the rea! zeros of the polynomial function. Use the zeros to factor f over the real

numbe i f 'J f /0 —20 TS g
V\,S( b‘-}n r(sj‘:"f O \-[ L v "lf] U"“ ( &____—__L ({ _— ‘-(* ...-?" ¢
f(x) =x #10x> = 20x° - 90x + 99 | (/ - e ; Ve b
i Y il
What are the real zeros? Select the n‘ect ’c}moe below and, if necessary, fill in the answer box | to complete your answer.
{ i =5 = vy :
Wst syathedi- iy en 2y ' 4 yiz 5 o3

(A, x= - i fc’.r 27 Y fe s

(Simplify your answer. Type an exact answer, using radicals as needed Usg In“{egers or

fractions for any rational numbers in the express:on Use a comma to separate answers as

needed.
_ ) )/ (¥ XT38
() B. There are no real zeros. 3

Gf t+ 3 K+ f))

Use the real zeros to factor f. Xr 5 = e ¢4 X[ = O

fx) = Xt3-3v0-3 g Xal(—~/(=o—CL)/
(Simplify your answer. Type your answer in factored form. Type an exact answer, using radicals as needed. Use integers
or fractions for any rational numbers in the exprassuon = N
@ "5y o /ﬁ 1L
Answers A. x=| -11,1,3,-3
(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or fractions for any
rational numbers in the expression. Use a comma to separate answers as needed.)

x+11)(x = 1)(x + 3)(x - 3) ﬁ L S"J/ -
[, 3 ~— 5 —(( \
ID: 3.2.53 ey B ) I
— — = e )
59. Solve the 'e_gl..‘:.ati??’jn thWétj (/X,» F___L{_{x_/__y_((_ J M‘“ )
(x?-6x+45= 9-~@ PSP \\ 2 ci %x(

Thfgtsoluhdn set is { } (Use a comma to separate answah:n%ed )——/"/
Answer: 3-6i,3+6i /r: B M(J 7 TC/( C) ;(Q/LC?,_A/’ Ca

2 7 ‘
. . . i —— J ¢ .\‘
ID: 3.3.2 /(_Z__éil /___ G- 175 — /Ur:vc I \

g I
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60. Find complex zeros of the followin lyriomial function. Write f in factored form.
= — / 7 <P '—/ Vf.
S/ S (

f(x) =X - 15x° + 79x — 145

S xR A
The complex zeros of f are | . l 0 2 ] :

(Simplify your answer. Type an exact answer, using radicals and i as needed. Use mtegers or fractlons for any nu
the expression. Use a comma to separate answers as needed.)

'(_ 5 Y — — =D
Use the complex zeros to factor f. { X p==s / o X 2 /
)= ) ac| . bo s 29
(Type your answer in factored form. Type an exact ar{swar using radicals-ahd-i a&neaded; Use\ntegers or fractions for
any numbers in the expression.) o o

/' ,-f; ' @ h/t,,-- }"L'L-L/C‘\.
Answers 55-2i,5+2i ¢
(x—5)(x-5+2i)(x—5-21)¥’—2;+//2 .,
X< -(1°) TVER) | 0 N
ID: 3.3.33 VN e by
y\mx ) ¥ /0 P00 — 16—
6«\.’\ Jv), _'-;-

2.

L,)f( X )( /Q‘Z‘J//é
/ )(z /o*f%}

R

/’/L H_F(f,_{
A e =
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(I v (%«—-J—(r i

61, 2
45" -3
/er the function F(x) = , (@) graph the rational functlon usnng transformatlons (b) use the final graph to find the
X

domain and range, and (c) use the final graph to list an vertlcal horlzontal or obllquea ymptoles TN
( /(S {ref b o =N

—— o

(a) Choose the correct graph below.

A. B. c. )
Ay Ay
0 204 |
J x . /
TITTI .‘TTH‘I‘I'!' it — I
FTTTRT ey /
203 e NS /
erbiid €Sy ;JjL /
& - k\/ & ’_’_/L‘L - f
S (b What is the domain of the given function? Select the correct choice below and, if necessary; fill in the answer box to
complete your choice. A/)/;& g L'M’/ 5
i /;1.4," //" I g 're// Vi by
. . L . \ ey
A. The domain of the given function is {xlx is a real number, x> \ } ¢
(Type an integer or a simplified fraction.) \ : ___1/ . - /
\ — /
B. The domain of the given function is {xlx is a real number, x# "'\ } / A /
(Type an integer or a simplified fraction. Use a comma to separate answers 3s needed.) (/ - _x’
C. The domain of the given function is {xlx is a real number, x < } // -
(Type an integer or a simplified fraction.) \
D. The domain of the gjvep function is thﬁet of aIITeaI numbers. I Ba g ;/ —_
/Pcf( f rfu* J= £ L/ e s
What is the range of the given-function? | orea Below- and“tf“necessar? fill'in the answer box to.
complete your choice. < T’,,, % A 5 /\,) > ’[)1«.// A / [’s Samie ag /)4, w2
Nowur o 20 Hshm /}/rf ~ there 50 o]
A. The range of the given function is {y] is a real number, y<— i /

(Type an integer or a simplified fraction.) % -
B. The range of the given function is {y|y is a real number, y > }
(Type an integer or a simplified fraction.)

C. The range of the given function is {yly is a real number, y #
(Type an integer or a simplified fraction. Use a comma to separate answers as needed )

D. The range of the given function is the set of all real numbers.

(c) What is/are the vertical asymptote(s)? Select the correct choice below and, if necessary, fill in the answer box(es) to
complete your choice.

A. There is one vertical asymptote. It is
(Type an equation. Use integers or fractions for any numbers in the equation.)

B. The left vertical asymptote is . The right vertical asymptote is

(Type equations. Use integers or fractions for any numbers in the equations.)

C. There is no vertical asymptote.

What is/are the horizontal asymptote(s)? Select the correct choice below and, if necessary, fill in the answer box(es) to
complete your choice.

A. The top horizontal asymptote is . The bottom horizontal asymptote is

55of 82 11/4/2019, 7:47 AM
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(Type equations. Use integers or fractions for any numbers in the equations.)

What is/are the oblique asymptote(s)? Select the correct choice below and, if necessary, fill in the answer box(es) to complete
your choice.

(O A. The oblique asymptote with the positive slope is and the oblique asymptote
with the negative slope is
(Type equations. Use integers or fractions for any numbers in the equations.)

O B. There is one oblique asymptote. It is
(Type an equation. Use integers or fractions for any numbers in the equation.)

{0 C. There is no oblique asymptote.

Answers D.

B. The domain of the given function is {x|x is a real number, x #.

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

A. The range of the given function is {yly is a real number, y < 4 b

(Type an integer or a simplified fraction.)

A. There is one vertical asymptote. It is x=0
(Type an equation. Use integers or fractions for any numbers in the equation.)

B. There is one horizontal asymptote. It is y=4
(Type an equation. Use integers or fractions for any numbers in the equation.)

C. There is no oblique asymptote.

ID: 3.4.43
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62a Find the vertica ' horizoni';al. and oblique "asymptotes, if any, for the following rational function.
3 ( ( .

15x

R(x)=
Select the correct choice below and fill in any answer boxes within your choice.

A. The vertical asymptote(s) is/are x =
(Use a comma to separate answers as needed.)

B. There is no vertical asymptote.

Select the correct choice below and fill in any answer boxes within your choice.

A. The horizontal asymptote(s) is/are y =
(Use a comma to separate answers as needed.)

B. There is no horizontal asymptote.

Select the correct choice below and fill in any answer boxes within your choice.

A. The oblique asymptote(s) is/are y =
(Use a comma to separate answers as needed.)

B. There is no oblique asymptote.

Answers A. The vertical asymptote(s) is/are x = -2 .(Use a comma to separate answers as needed.)
A. The horizontal asymptote(s) is/are y = 15 .(Use a comma to separate answers as needed.)

B. There is no oblique asymptote.

) ! 5=
ID: 3.4.45 QX? 5 —

(X+T £ ; 2 ¥
[y 2 52 . f Sin &t f{‘ ‘7{ +f /)"' g - 4 ‘"’( ;’f’. \
.,f:'f,.%-"s‘ X - ) / Semf &3 P ) A

—~0 J- /’S 7 q 24 ,/l,“""? 714"4
i+ 22 1o 5T e T

: (7< - -t ,’;-/—'-.--K‘\-lr'v\
(\_ X T - T ‘ N 4 )_/ '

= / N,
b

(tf-;;..(m_ (s mp T / ~_ R

. _\\‘-"v = /

¢ 44.; g L// I.z:’f’"(

5

TR
'J/U‘i{

e
ot

\ fe = (v Z0C hepvord &5 7““ V /1“{(;
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63. For f(x) =4x+ 5 and g(x) = 6x, find the following composite functions and state the domain of each.

58 of 82

(@) fog (b) gof (c) fof (d) gog

(@) (fog)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

A. The domain offogis {x | }-
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

B. The domain of f o g is all real numbers.
(b) (goH(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

A. The domainofgofis {x | ¥
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

B. The domain of g o f is all real numbers.
(©) (fof)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

A. The domainoffofis {x | 3.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

B. The domain of f o fis all real numbers.
(d) (@og)x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

A. The domainofgogis {x | ).
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

B. The domain of g o g is all real numbers.

Answers 24x +5
B. The domain of f o g is all real numbers.
24x+ 30
B. The domain of g o fis all real numbers.
16x +25
B. The domain of f o f is all real numbers.
36x

B. The domain of g o g is all real numbers.
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ID: 4.1.23

é(/f' Gxrs ot JO) = X

(feslsd =
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0 _
@ C /%/ s e A J) = gX

[ fof H)-
1/
/ ( Gx+5)7

(7/@14»5)”/ =

—

2oy

[C X7
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A

e function f(x) = 8x + 4 is one-to-one. Ay

(a) Find the inverse of f and check the answer. 204
(b) Find the domain and the range of fand f~ 1 15
(c) Graph f, f~ ! , and y = x on the same coordinate axes. "2;

a4
@f ()= ;
(Simplify your answer. Use mtegers or fractions for any 4-
numbers in the expression.) X

, _ , _ 20 16 12 8 4 ] 4 B 12 186 20

(b) Find the domain of f. Select the correct choice below and, if PE
necessary, fill in the answer box to complete your choice. ]

-8
() A. The domain is {x|x=2 } ~'|2—:
(' B. The domain is {x|x# }- i8]
() C. The domain is {x|x < b 403
() D. The domain is the set of all real

numbers
F i o -7
. . . / .)(]/ ) X=F >F Ca N

Find the range of f. Select the correct choice below and, if [ . A/ U) | —
necessary, fill in the answer box to complete your choice. /Lu =2

| Lj R VT R

) A. Therange is {y[y;ﬁ } - 2 @\/ . Y
R 6 - el

) B. Therange is {ylys,,,,,ﬁ,, 7777_}_ | / - [q / Y

C. Therangeis {y|y2 } | P X ‘7 — 9/’/ (/ ‘\..

D. The range is the set of all real numbers.

Find the domain of f 1 . Select the correct choice below and, if

necessary, fill in the answer box to complete your choice. ,( B L/ -
A. The domain is {x|x # }. ’(/, o -
B. The domain is {x|x < 3 '4/7_
C. The domain is {x|x2 ] m}.
D. The domain is the set of all real )(/ (/ - j
numbers. , S

Find the range of f !, Select the correct choice below and, if ‘ )(/ of ey |
necessary, fill in the answer box to complete your choice. — | f

- Therangeis {ylyz2  }. ( 7 277 //) l/(/% a /

. | /
B. Therangeis {y|y.<. } o 3, JC"V‘/
C. Therangeis {y|y¢ 7 } — !f \f_\_\ - 2 //

D. The range is the set of all real numbers. % (/)() o " . ) /

(c) Graph f, f~ 1 , and y = x on the same coordinate axes. Use i
the graphing tool to graph the functions. > s
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" x=4 =9
nswers
8 - %{/f %

D. The domain is the set of all real numbers. i\/\ - _ ] |

D. The range is the set of all real numbers.

D. The domain is the set of all real numbers

/a{/l‘“ )

20 -16.__= 4 16 20
(Cq “LJ/ /
“‘W{vw _——
18 X - "/Z
’Mh‘ - —/2
ID: 4.2.53 7’—}4\“(1 /o o
___

z N —_
65. _Solve the equation. Xt L <V { o | (ﬁ\»
V e et
3

Z){,//' -

The solution setis 4

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

Z-X"---f"/"—( T 3~

Answer: 1

ID: 4.3.69




) - LXx/
@/g ::( '52;.{-1#/ ) /-& -

/Z/f /:/K //2\)
(zxw//ﬁ« (r) = A ((2r)

ey, Mrﬁ/é (1¢)
—% o (¢

: _ C /Z'r)

2r| ~ K vy

% )/_4!////-/1 ﬁ/g} i

Y= /ﬁ(/zr) -
o A [ED /

20 = A




66. Solve the equation.
327X+ 3 - g

The solution set is .

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

Answer: 15 _...%’,_f_. 3 } X'_'-

ID: 4.3.73 3»& - 6 ¥
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67. If a single pane of glass obliterates 5% of the light passing through it, the percent p of light that passes through n
successive panes is given approximately by the function below.

p(n) = 100(0.95)"

(a) What percent of light will pass thrngh 5 pan e_a‘?
(b) What percent of light will pass through™10 panes‘?
(c) Explain the meaning of the base 0.95%n.this-problem.

(a) The percent of light that will pass through 5 panes is approximately %.
(Round to the nearest whole number as needed.)

(a) The percent of light that will pass through 10 panes is approximately %.
(Round to the nearest whole number as needed.)

A
(c) Choose the correct answer below. /V/) / - /'6:,{‘) / & 99, ) /
c 7T ) A S~

() A. Each pane allows only 0.05% of light to pass through. J }
S L8
== \

() B. Each pane allows only 5% of light to pass through. = e % y R
RPFOT 2 L

() C. Each pane allows only 0.95% of light to pass through. ,/7/ } ) A . —

() D. Each pane allows only 95% of light to pass through

A

— 7 S

Answers (75; / /( 5/) 7 7 r-/)”‘_l_)_(_; o = (
I—D:4.3.105_ - B /y//}/ = /OU /() 7] )
p) = /00770
Pl ST GZEESS
)&
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68. The price p, in dollars, of a specific car that is x years old is modeled by the function below.

p(x) = 22,295(0.92)*

(a) How much should a 5-year-old car cost?
(b) How much should a 6-year-old car cost?
(c) Explam the meaning of the base 0.92 in this problem.

(gm 5- year-gld car should cost approximately $
(Round'to the. nearest whole number as needed.)

(b) A 6-year—old;£ar should cost approximately $
(@ound to the nearest whole number as needed.)

(c) Choose the correct answer below.

() A. As each year passes, the car is worth 0.08% of its value the previous year.
() B. As each year passes, the car is worth 8% of its value the previous year.
(O €. As each year passes, the car is worth 92% of its value the previous year.

(1 D. As each year passes, the car is worth 0.92% of its value the previous year.

Answers 14,694
13,519

C. As each year passes, the car is worth 92% of its value the previous year

ID: 4.3.107 /7/{/ E Z_ L /C’ /()
P(s) 2zzm /()/87 =

L §[ ( C/ Y Z 6 _#f'/}
///( 5) : _/_ 5 /(F— ____:,—' /
o
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69. The percentage of patlents P who have survuved tyears after initial dlagncgp of a certain disease is modeled by the

function P(t) = 100(0. 8) — f}((/ O() /ﬁ j)

\
(a) According to the model, what rcé“nt\of patients surwg; year after initial diagnosis?
(b) What percent of patients survj e 3 years after initial diagndsis? - 0 : 0 &7) /l
(c) Explain the meaning of the base 0.8 int the context of this problem. / ( / ) — / O g ]

(a) According to the model, | . % of patients survive 1 year after initial dlagnom - — 6 i T o«
(Type an integer or a decimal.) /( / ) X } - L~
(b) According to the model, | 1% of patients survive 3 years after initial diagnosis.

(Type an integer or a decimal.)

(c) Explain the meaning of the base 0.8 in the context of this problem. Select the correct choice below and fill in the answer

box to complete your choice. ﬁ / i / (:t) ( ( ¥ P / )

O A. As each year passes, % of the previous year's survivors have sumved o /’
() B. Aseach year passes, % of the total patients have survived. / ( ‘;") < / O O /0"37 ) 3
(0 C. Aseach year passes, % of the previous survivors take the diagnosi —

Answers 80 ( OS>

51.2

A. As each year passes, | 80 % of the previous year's survivors have survived.

ID: 4.3.109

70. The function

D(h)=7 ¢ ~0-36h

can be used to find the number of milligrams D of a certain drug that is‘in-g patient's bloodstream h hours after the drug
has been administered. How many milligrams will be present aftqr\‘l—lfu@ P@s"

R

After 1 hour, there will be _ m|II|grams. (Round to two decimal places as needed.)
After 6 hours, there will be milligrams. (Roq/d_mm_demmalﬁlacesﬂsng_gad ) —
_—_-:L.‘H_'_'__‘_-_'_'_____,_

Answers 4.88 /D(\) = ]G)Jf 0. 36 (I) e s
=T (V= FEI7IrEIT Ty

e

| _— ]

ID: 4.3.111 O f(ﬂ /’
o Zs N e A

>
@ ~ K-LT}GF

il
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i"Jz /‘L(‘H\\
71. Determine the domain of f(x) = log 5(x + 7). J QN6 \\_\
Choose the correct answer below. X "f’7 > O @ - (Ojg / /4 Vi —;/5) /)
O (00) i Axe B>
O (-7,0) e
(0 (= 00,00)
O (7,00)
Answer: (- 7,00) ~ \“/V/
ID: 4.4.10 | N—
72. Change the exponential statement to a ;equivalent statement involving a logarithm. C, ,( / (;
X _ -
e*=16 /Z (a{{ S Y ﬂ ‘)
The equivalent logarithmic ) b /@' 2 /Q—n ( /6 ) Iy
Answer: x= In 16 )_(F__C’_/__'f ‘é‘”’// {'/ ¢ e
Iz b 17e] >
ID: 4.4.17 @ TN 3"{/}22 (sz 7 )
73. Find the domain of the function. . g
D =420 \ /""4
g(x)= In(x-9) Y R
_ | - -
The domain of g is . X Ci F—’L; 7 0 7&// ‘143(/ ,%’l [4)(1—/.1, )
(Type your answer in interval notation.) — 14
AM= Axrp >,
Answer: (9,c0) @“/)
ID: 4.4.39 ( 9, 2 ) e
74. Find the domain of the function. ’4"’/ » "Z\

h(x)=7—3logg[§-6] |

The domain of h is
(Type your answer in interval notatlon )

Answer: (18,00)

ID: 4.4.43

p 3/6)
3( 4) =730 Y

’(-6 > 0
M‘?Of@
,26>é

3

("{d e \
/ﬁ() 2 £ U% ﬁx%’) |

A At >‘_)\

660f82
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75. Solve the equation. [d)‘é, /J,/X/‘”j/ =
-F"?
V log 5(8x+3)=4 . , /
75 le PX—+72 /€ worle

Change the given logarithmic equation to exponential form.

| | 2.0 2/ = ¥xX+2

(Type an equation. Do not simplify.) /6 /}( ) 3

= ot
The solution set is { } /6 — 3 gl o))("f 5 —S
(Simplify your answer. Use a comma to separate answers as needed.) /}(

Answers gy 4 3 =24

13
8

ID: 4.4.91-Setup & Solve

76. Solve the equation.
Ine*=6

The solution set is b. )( ( /) <

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

¢
-
Answer: 6 )

ID: 4.4.95

77. Solve the equation. /63 (2 ‘/ 3/ ~ Z/‘f{j

log 3243 =2x+3 =

2’(‘” - 293 P
Change the given logarithmic equation to exponential form. 3 "
- : 2 x+3 .
(Type an equation. Do not simplify.) 3 3 - 3

The solution set is { b 2, X T j s

(Type integers or simplified fractions. Use a comma to separate answers as needed.)

22X % *./_3/ =3

Answers 943 = 32X*3

: X = &

ID: 4.4.99-Setup & Solve
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78. Solve the following equation. Write the answer in terms of the natural legarith: (
/ZT

© e /é {7/
Thesolutlonsetls{i_} Sﬂ‘)(jm[f)/ - ,é-.(/?)

(Type an exact answer in simplified form. Use integers or fractions for any numbers in the expressmn Use a comma to

separate answers as needed.) )( (/ / o e .-, / 7)
Answer: In 7 ¢ %/7/ /
; o (, A, oﬂ

g X’ 379 [ 82027 I m

79. Solve the equatlon Wﬁtxme answer in terms of the natura agarithm.

CS’ -
e ™X*8_40 -//Z,z ({?7)5—!1? i_,-d?(/d)
The solution set is |8 '

(Type an exact answer in simplified form. Use mtegers or fractions for jany numbers in the expression éu /a mrna to
te an s needed. 4 &)
separate answers as ne ) (7)< y f) ,Lb'r (t/ / ) ) = /.

Answer: In 1.:)—8 (’7)( ny // L(/,/ l/_ /}(: %‘}7:4; )
et S i) P S 72 _

75(7/;;/! CH(/JJ =< ((2(&(: (3169 (53
7 ﬂ'// g —7 & CZ —o P38 2 7

S aar T ith _Cn X i K7, T
£~ " /2 _/{. y \/Z/)
5¢02%=13 " < - S /o o2

4 —
The solutionsetis f } C;d ‘ = é &m}— |

(Type an exact answer. Simplify your answer. Use a comma to /s?arate a?sxgers as nee? j 7.7
2:¢ )

Y z %'777(&”7&?]3-5

5x=7

ID: 4.4.103

80. Solve the equation. Write the answer in terms of the natura! logarlthm

L

4'{
Answer: In 2.6

0.2 delX «é*a//’ /?()
d.2x(1) - xf(m)
ID: 4.4.109 0.2X < _K /Z ]/

—

——— — y— — —

81. Solve the equation. Write the answer in terms of the common logarithm.

=7 (Zl“ /0 - 77

—— E5 n

<
The solution set is {] i}. ?L

(Type an exact answer in simplified form. Use a comma to separate answers as needed.)
% 66X 7
Answer: 7 / = 7
6-log '

4+10°7*

ID: 4.4.111 ) =
S (_é'—;?i)_éu_j/;_(/g)_ = _/;‘—’7‘;7._
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CXrf 7 < lJM :
82. Suppose that G(x) = log 3(2x + 1) - 3. 2hf ~f 7 O " I K"I
3 ¢<7)

(b) What is G(4)? What point is on the graph of G? 2K > =
(c) if G(x) =2, what is x? What point is on the graph- ofG‘?'é\ A
(d) What is the zero of G? <

e i
(a) The domain of G is | . (Type your answer in lnterval notation. ) » } }\ O .
| S il —

"'/
(a) What is the domain of G? 2x 2 "’/ CH 2,

D" Y
! (u,(?/f -
&Gl ) = O
| T G/ = oy (T C"‘ : /
The point |sonthegraph“ofG (‘Iapeanorder?dtfjlr)/ ) -3 ( /Z)(f/}*)f < orEs
_— 3 -~
() F G(x) =2, then x = . 6/ | [()}(i/ / £io /?,W/) =
The point | :|s on the graph of (Typeanordez %air) )(j/ 7 73
— o o ( 3 3 5, y
(d) The zero of G is x = ; G(y/ 2 l'/ff’ B w2 Z/“/
L | = 2 |
Z;(% /
2)({( = (
(X
X
_/

f}j}> Z)(’r( ,j(':;{

293 ' S
ID: 44&13 .,rgf-/'—d])‘f/" r— 7
‘H..__ S —
83. The atmospheric pressure p on a balloon or an aircraft decreases with increasing height. This mﬁiura._measured{j
millimeters of mercury, is related to the height h (in kilometers) above sea level by the formila p =760 0.145h > /v 4
_—'—’"‘\\ ____U r
(a) Find the height of an aircraft if the atmospheric prassurés/s illimeters of mercury.
- 32 =/60C
The height of the aircraft is kilometers. (Round to two decimal places.) -0, [« rﬁ
— §$32 . Aol
(b) Find the height of a mountain if the atmospheric pressureé&/)’nillimeters of mercury. - :7'(:% = -
J L= )
The height of the mountain is | kilometers. (Round to two decimal places.) — O/ /
. 7————-:;,,; 4 P - !
2Ls=rleo | 760 -—O,If’ré

Answers 5.80 .7('3.'- 7(00 /¥« 4 s - %
20 220 C ek /&)/@] (Jj/)/ vy
ID: 4.4.121 }“( 7ca’ ﬂh( /e

. A J\{(A dh{q/ ﬂ / $21) - “'O’/q;f4(--//
Ul( T Ty - TR ./

- -4 (! 4 - O[S
ﬂw(gﬁ/ M”e(/ iLjf’“* e

/4_/3 —0, (Y
/ 7 oS 537’/,)
1 @/‘* f K/( 11/4/2019, 7:47 AM
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84. Between 12:00 PM and 1:00 PM, cars arrive at a bank's drive-thru at the rate of 18 cars per hour (0.3 car per minute). The
following formula from statistics can be lgsed ? determme the probability that a car will arrive wathin t rglnutes -af 12:00 PM.

—q- o =03t A C(JN ; ZM.C fu\
F(t)=1 _e L/ & ,yo — . o_/\{\/#/— C’_U'N"/(“— - Fin

(a) Determine how many minutes are needed for the probability to redach 40 5(..‘ s '5'4_ =
About minutes are needed for the prolzablhty to reach 40%. ,./ =i _0 3¢ =i B
> '] P
(Round to two decimal places as needed.) - CJ i — £t -r‘” 1 ( - =~ (5 [2)
(b) Determine how many minutes are needed for the probability to reath 90% e FE e
About ' minutes are needed for the probabljltx (o] reac 90% r; F.3¢ )
(Round to two decimal places as needed.) —/ ( & I= - (0 ,{ & 69 < /4 ﬂ/a/
(c) Is it possible for the probability to equal 10026" Explain, Select the corre choice below and, if nacessary. fill i Zthe ,
answer box within your choice, C o'V Cdnp - == O - 3 ( v’/f*’/ = A / V) /
) A. Yes, about minutes are needed for the pr’pgaablhty to reach100%,_ /) 5(’//] - /4 /,/u/
(Round to two decimal places as needed. ) /g /C ;:',, / '

(O B. No, because when determining the number of minutes, the exponentiai equation cannot ge 3 é : /‘/ '?)
changed to a loganthmlc equatuon as the domain of the logarithmic funttion is x> 0. (; ( f ( 7 0)
= -

— L3 €)M 4) f/ =3 et
Answers 1.7 —d.2 € ((/ - ,L.. / 6/ /—r —d, 3 “
768 —0.3 €= i _{u

C{K]o’fs Z/,?cs’/f)
B. =3 j @U‘“\/( Q— 7’£(f}/¢/\

No, because when determining the number of, mutes, the exponential equation cannot be changed to a
logarithmic equation, as the domain of the logarithmic function is x > 0.

<(’ /o 702 7('2«:’
ID: 4.4.123 (( / 7 /(u,h

o5, Tetomus__ D= se
D=5¢ 22/ : '
can be used to find the number of milligrams D of a certain drug that is in a patient's bloodstream h hours after the drug

was administered. When the number of milligrams reach&s 4 he drug is to be administered again. What is the time
between injections?

The time between injections is "hour(s). Z _{-
(Type an integer or a decimal rounded to two demmal);)laoes as need;d') Cy / /)) ) — — 7.- =
7R f, i L
Answer: 1.12 ¥ N _0.2¢ / —c) T
& &

sc
ID: 4.4.125 &) ) _'52”214 Q //1(7/7][7 = i
gl —— Ov —

= ! e ——— ___.-—'_—_%\\M__jrfﬁ-\_ﬂ o
70@\12 — ' 11/4/2019, 7:47 AM
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86. The concentration of alcohol in a person's blood is measurable. Suppos&that*tha relative risk R (given as a percent) of
having an accident while driving a car can be odeled by the equa on R= ; \Rihere'x 'I$ the variable concentratlon f\
alcohol in the blood and k is a constant / /67 PBC “? - @/(/U 3 6 i
(a) Suppose that a concentration of alcohol in the blond 0? 0. 06 re'sults i 10"/9,r{elatwe risk (R= 10) of an a?Ident. Fi

the constant k in the equation, 6’ > - A7
; £ Aghsde g 2o
k= (Round to lwo daclrnal places as n?gadeda: ” 2.7,
/ C - //(/_V . _)
(b) Using the value of k found ln pa[:.(a) whét is the atwe nszb if tgg ncentrationto 17? . ° / Ay
R= % (Rouhﬁg tot the neares’t percent as ne?e / ( (-t-'-é'-} /Zv
)T 006K ("/
(c) Using the same valu,é of k f part (a), what concentra ion of alcohol corresponds to a relative risk of 100%?
B 0K ) ()LL) 0,074 4.7
x=| (R un to hr mal places as needed.) b s 3
J.06 K K (E)=20,074 (I

(d) Using the value of k fﬁun i pa#r é) if the law asserts that aﬂyone with a relative tisk of aving an accident of 15% or
more should not have drivi g es, at what concentration f‘f alcohol in the blood should a driver be arrested an
charged with a DYI? - ";7 _Fg £ - 24,024

P Ay

—Jd——’ 0 JG _______._-2__
x= | lﬂacesasneeged) 207 _____gf_l}__ =
—L 0 - i

o

/) <Cul747/63177 %) F

J7 5 )X fooA
& : 0 ZzJ, C"?{ %: 20!‘)/?'(,f"f;
0.178 \ ¥ W[5 3 C /ﬂ*/ﬁf EL07% /1)
oos( A=3 C) 20,07 o) < L0,07
(- T0.5C70" P < € e 22 R 2577
.II G (] ?/
oaege U — J;JJ;_@AC -

87. Wiritinglog ;p - log ,q +2log ,r as a single logarithm results in which of the following expressions?

) \—‘h\\*‘* .
Choose the correct answer below. Z@: ( /7/ ("4,'25 / q)) _fz (t' LC
\ (g@{/ﬁ [uj [Q) L Z’U“( /K )

e o .

ﬁf‘;)z

O losakq%J 2

) log i ZU% (()) o & (U) (‘/n )

o Log, (5 * ) LA
e {{ - (,U[ﬁ/

) loga(p-q+2n)

Answer: 2 e

) — )7

& A -

ID: 4.5.12 ﬂ/j ' Gﬂ/L & /'/
;ﬁ . | ", 1 2

- > L,(,) —L
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88. Write the expression as a sum and/or difference jlﬁanthms Express powers as farjrs

In(x ,0<x<7 (A/hﬂ
In (x"® X) ] (Srmphfsr1!:!uremewggg1 (/\(/\ ) ——(—
K

L
1 (v ,/Z, —(
15In x+ - In(7-x)

2 [ s b iK) + zf:/ (74)= \

ID: 4.5.47

' —g;_FWrite the expression as a sum and/or difference of logarithms. Express powers as factors. A " /( ( )( = 5J
7
log [X(X—H?},x>o 6/'7‘(79
+8
(x+8) Loj ()((/(7‘5))-——- &/ ()(—’LZJQ-

xx+3) || Simpli youranswer
Iog[(xw) ]_ Sme 4_;5 }){}-7‘/4,10 Q(-f 5/) "'"/i-) 6/‘!‘()
Answer: log x + log (x+3)- 3 log (x +8).— [L/ (// —f 4 (Xif?) "_ ? (‘Cj (/(‘fc};) )

ID: 4.5.51

e

90. Write the expression as a sum and/or difference o?thms Express powers as factors.

Ir)-s(
3xy/1+4 7
: 7)11x X >7 U‘/ 7)“
X=

wfTE8 /Z,,/ P)x ViTT. ) — / /)(~7)
In x-7)" \—jEDIWY/answerq 5(/ »—-(’/Z’L. m ——“_//’-1 //( 7) —

Answer. 3+Inx+ |n(1+fi){711|n(x 7) /ﬂ.q/)(/ ,/, ﬂ,, Ofk?y /Zh //("7) =

adles (o /V,( ;)\/ﬁ,/)(/ + z%/ [#550)— (1.0 (- 7) )

91. Write the expression as a single Iogarlthm 4 {C 97 ()("'f G) — (") 7 6(—_ )) ”"’C¢ ()( [?
4log,(x+6)- log-(x-3)- log,(x-17) [AJ =
97(x+6)- logx-9)~ logy %5 ()(’f/) Cos (X=3)— (a);(,(—/z)_

4log ;(x+6)- log;(x-3)- log ;(x-17)=

(Simplify your answer.) E,oj ‘. EA/-/L G) — ((0}7 (/' 5)'_?('(.0) [/("'/ 7))._
Answer: '097[ ()H-S)J [/Oj 2 (A (X‘f() —— /[.U 3/’(/(""’7))

x-3)(x-

T Loy (xt¢)” =

B L 3 4@7/!—1)/{_/7 } /,»
Tofsa \‘:’Q m'

—
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92. Solve the logarithmic equation. ZO/!} 3 (/(‘f f) < //6{3 2 (/Y)
log o(x +8) = log g 14 e =
Xry < /7

.7/ J / /QT&
(Type an equation. Do not simplify.) / == G, .

Determine the equation to be solved after removing the logarithm.

/\/ s > 3
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. g
(0 A. The solution set is { }
(Simplify your answer. Type an exact answer. Use a comma to separate answers as
needed.)

() B. There is no solution.

Answers x+8=14

A. The solution set is { 6 }

(Simplify your answer. Type an exact answer. Use a comma to separate answers as needed.)

ID: 4.6.9-Setup & Solve
93. Solve the logarithmic equation. é(_))/)(/ e (U) (/(ij )z / r T
log x+ log(x+3)=1 (,‘_)) p-()(’)((.s) - /
/ J

Determine the equation to be solved after removing the logarithm.
— /0= K(hes )
ype an equation. Do not simplify. - t .
o = K LK
Select the correct choice below and, if necessary, fill in the answef box to co%nplete your choice.
) S XT3
O A. The solution set is { 2 O g){
(Simplify your answer. Type an exact answer. Use a comma to separate answers as
needed.
) ) 0< (X —-Z /2/ A 5_
(_) B. There is no solution. .
X7 =& /( S =D

Answers x(x+3) =10 X—1+ ¢ L/c)-fl O(

[

?Sllr;)ellf?o)'(l:::r;::\t/\/:r Type anzexa nsw/{ e Z mma to sep :
[é)/)(/]-f (ij ()(~f 3% /
2/{ —+Co; (23S
(L)t Cas (577
j J’Z’bg 271'“5/(
/73(~5/J *’)/ﬁ‘*” /
(-2) <z,

A Gt Ra e’
)/24;) /%L--

ID: 4.6.17-Setup & Solve
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/ ////J}‘_(")/k/ lj)s

94. Solve the following logarithmic equation. /_, / 2xp 3 ) / 2 i X =
i y ] ’5
log (2x+3)=1+ log (x— 1) /u - x- ’5 /’ f/ 2\{1
L —A

Select the correct choice below and, if necessary, ﬂII in the answer box to oan{plete your choi
Z XrD
/’ — L Al .'I C//) ;
() A. The solution set is { 2 ( /
(Simplify your answer. Type an exact answer. Use a comma to separate ans

rs as needed
() B. There is no solution. L~ - Xy ,-’ A /(J ff*/_rg) {-f (c = ,«)
/ I / ; A {,,f[’“ e )
0(-1) = [ (P57 ; 2 (161> Ly
Answer: A. The solution set is J % (o ~/< - ) Kt 3 Loy (Iﬁ:c’ \) /[Z )]
(Simplify your answer. Type an exact answer. Use a commd to separate answers aé’l&d ! ) Gev S
[OA—fO 1A = X Y77 C-fl"??h/a/
ID: 4.6.19 o xS L/f I}"f‘\
— 4%’;)(-—8( = 2Hp 3 LA ¥ )

95. Solve the following logarithmic equatiérL;’? /O /} ( )/ /«Z ) ( X+ / 2y) < ) <

log 5(x+4)+ log 5(x+128)=3

xfsc)(/(ﬂ(a’)

Select the correct choice below and, if necessary, fill in the answer box to complete your choice. ) }__
. /25 =yl (28x €¥X 2L
) A. The solution set is { }

(Simplify your answer. Type an exact answer. Use a comma to separate answers as needed.

() B. There is no solution. /Z )'— el X —(' / V4 )(: — § i
Answer: A. The solution set is{ } C) - X f/jg)(—f "S_/ < _—/ S

(Simplify your answer. Type an exact answer Use a comma to separate answers as needed.

D= X H12¢X €357
ID: 4.6.21 Oy + 3)()(‘—-/—/2%)
/r"r* Lo O o1 J-r/? G
(+73-2-072- O Xel25~-1lT=0-12

m 0‘/2(__:2,4\(4«& -

éoj (A/»f“f)—/(ujs,_//d/z /= T St A\

(uj /—5 o )t Caye~s0128) = > (}(’ ’_>
(w,5 /() (o;,///z/r) 2 el |

5‘1‘ J;/ 62) 6)/7/7
/o ,/--/ ZT»—:‘Y/# (&)r/—-/c’frf (28) = 2

75
(c'>5 (“‘/Zﬁ —f («.r)) //)
LD AAD
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l/)(r 7 )+ o ,,/,(/s )= 71
{‘“’)i/)(f/i’ X"f\ )2X

96. Solve the logarithmic equation.

logg(x+7)=1- log g(x +5)

= (e
4 / £ < )
Determine the equation to be solved after removing the logarithm. o /{/ s , X 5

— ) s )/L—(’ 5v~f/)<’+b

(Type an equation. Do not simplify.) j T X T [ X~ )~
Select the correct choice below and, if necessary, fill in the answi fr box to complete your choice.
< )/ i AT 5=
0 A. The solution set is { }. o= ,)( v i X -t 27
(Simplify your answer. Type an exact answer. Use a comma to sep te answers as.| rsaeded )
() B. There is no solution. C) Q< _f/ -} 01 DI
feyzo on Xﬂf{? | =~
Answers (x + 7)(x+5) =8 Xt y—3 = - ') a4 ‘?;7//‘/6 A 2L
= by =
A. The solution set is { -3 } Xf ? ot ,/ el
(Simplify your answer. Type an exact answer;Use a comma to's parate answers as needed. :
90 (31| = (— “”); (=37) Jlos, (~5+1) = 1= Cos (-9
ID: 4623Setup&Solve(4_) (4) T [ /z Coy gf=2) = [ — Cos5(-4)
T Lm;&g__,___,_____r-é- el L 3D —— A —

97. Solve the following logarithmic equation. Express irrational solutions in the exact form and as decimals.

2!0911{K 4) 1091164 l09114 ﬁ"'"""'"; /(.« /X’.—L{() p— [{_ {(7' (}’J - (L) //
The solution set is { }

(Use a comma to separate answers as needed. Simplify your answers. Type exact answers, using radicals as needed.)

Express irrational solutions as decimals. Select the correct choice below and if necessary, fill in the answer box to

complete your choice. / 1 4y ) < /
-L“j)ff ( B -‘-';‘)// /Q

-

() A. The irrational values of the solutions set rounded to three decimal places are

{ >

(Use a comma to separate answers as needed. Round to three decimal places as needed.)
o B. Th luti t h irrational solutions. Y s) ;
) e solution set has no irrational solutions ( /( CC; " ,L_/

-

Answers 20 67 /

. lZ _
B. The solution set has no irrational solutions. / ( )/ “"'f) -

ﬁv<fa ;f#%;;,w Vex)olos 107

(—y= 1 K X~ =/t \ 269, q z

(4% =/ bret o [z (67 Loy, //6)_/&/5 /6~,f/ Los, [V
/ O‘VUL’( z L\,lf G LM/

ALr5 Loes

[ x=2°

01 %9 1142019, 7:47 AM

e(e) Cruss 1A {
-

ID: 4.6.33

e

=) o0& / =20)

= CAt
2 Lo //2 c,)/(cj /(v/ Co (Lr
/{
750f8?2[u7(//6)‘) (u (6‘(/ xCo),(/v/
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98. Solve the following exponential eqaaﬂon. Express irrational solutions !g exact form and as a decimal rounded to three
decimal places. X”c/ 3 NG

44 =64 '/ (f = §< Ve wr/ ],\\\

|
What is the exact answer? Felect the correct choice below and, if necessary, fill in twer box to complete your

choice. , g
\ K= \
() A. The solution set is { } )( —A S’ . f 746{ \-\

(Simplify your answer. Ty\n an exact answer.)

e —
—— —
() B. There is no solution. \ ( X”f;:- / \

What is the answer rounded to three decimal places? Select-the-correct: Ghaiee”oe*l’ow andl, if neces
box to complete your choice

KN R
() A. The solution set is { } =% 0

(Simplify your answer. Type an integer or decnmaf rounded to.three decinfal places as
needed.)

. fill in the answer

() B. There is no solution.

Answers A. The solution set is { 7 }- .(Simplify your answer.
A. The solution set is { 7.000 }-

(Simplify your answer. Type an integer or decimal rounded

= ‘\/,_L/ —

/ ID: 46/41 .- 4/L {.,/G, V/L
, §/ Al &Y
O(/ (// p /(// / /{S/j

L, (b |
»/V/ /

ype an exact answer.)

three decimal places as needed.)

\

e ——— e — e T 11/4/2019, 7:47 AM
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99. Solve the following exponential equation. Express irrational soluttons in exact form and as a decimal rounded to three

decimal places. (/i] ( 6)) ) ol ( [/ 5/

gk=3

What is the exact answer? Select the correct choice below and, [ﬁ necessary, fi fill in the answer box to complete your

choice. )( (/13/6(/ 1;/ ))/
) A. The solution setis { }. j.’/ Q,(//f) _ ;;/5

(Simplify your answer. Type an exact answer.

7

B. There is no solution. // f / é// ﬁ/ )

What is the answer rounded to three decimal places? Select the corf,ectcho below and, rfme,ces%ry, fill in the answer
box to complete your choice. g = [ g J[ _5 (ol

) A. The solution set is { } ( ) - (/) @ /C 2T

(Simplify your answer. Type an integer or decimal rounded to three decgmal placesas———_ & 4

Y

) B. :::(::(I’s)no solution. &X S/ Z’ 53 (. 4/8( g /? ( ‘%

i I3 } ( =
Answers A. The solution set is ns .(Simplify your answer. Type an exact anw»'er) Lf/ =3
A. The solution set is 0 528 C}( O S Z’ X

m

(Simplify your answer. Type an mteger or decl al rounded to three decimal places as needed.)

ID: 4.6.43 e —
—=—-_.—-|:,—_-..:__._—_-____ —

100. The population of a certain country in 1999 was 287 million people. In addition, the population of the country was

T
growing at a rate of 1.1% per year. Assuming that this growth rate continues, the madel P(t) = 287(1.011)! ™ 19%° b
represents the population P (in millions of people) in year t. - = =
According to this madel, when will the population of the country reach Ci 7 9 ;,?

‘(@) 315 million people?

((b) 386 million people? _ ///(/ < 2/57 ( / O//)

R

(a) The population of the country will reach315 million people during the year
(Round down to the nearest whole number- ded.)

(b) The population of the country will reag ."[386 mI||IOI"| people during the year |
(Round down to the nearest whole number\as néeded ) —177%

3= 287 ([fooll)

-
Answers 2007 €— /5% 7

LY . 277 ([ ol
2026 257 - £77£{ )

ID: 4.6.107

/o 0775‘(/ (/ 0/1) £—179%
I (f.097v61) = Ao (/.0/1)
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=
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2007
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- 257 (1)
o , €775
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A~ W( - E)7 o= Too oy
101

. Find the amount that results from the given investment,

Gsoo anesle( at 9% compoundec@rt:rly after a perind@ years
After 3 years, the investment results in $| 4 —é{w [ /,7c s )[

(Round to the nearest cent as needed.)
Answer: 653.02 4 ST)J (/ o= ,717)_/{ l/
Qﬂ’ 56 s 3. azy??yb O

ID: 4.7.7
( AcdG 8.0 B |
102. How long doesitta or an-investment tQEELEI;]n value ifit is ir mvas 3% compo nded’_'ﬁ'l\;'?-'t_h:ry\‘?,enmpounded

dontznuousl?? 4 ﬁ// _f_[ A/ 2002/t P gi ‘ G3€
/ c / Tc Vi _/-,-[—l—()’ ()o
At 3% compounded.monthly, t a,mv/ tment doubles in about . - T L, aJ¢
o2 At L ur

(Round to two decimal places as needed. } z ”’“" 2 /4 ‘{ifj_;i
.

At 3% compounded continuously, the investment doubles in abo}lt :
(Round to two dec:rnal places as needed.) 2—4 { -+ 9-#) /

(H‘ 00is)
P ( 1
Answers 23.13 [o002s) (e

A1) A (f, voir)
B fu () (26 bl fypo
A1 Y (2 (lv4)

0:4735 (g dn(/,v115)) (12 L (1. 0521)
“"7\

—— — - \ //_ =
03. How v many years will rttakg for an initial investmen fsawo to grow'to $30,000? Assume a rate of interest of 4% .
ooy ompounded conhnuousty /

It will take about I | years for the investment to grow to $30,000.
(Round to two decimal places as needed.)

Answer: 10.14 /4/‘ /(‘; f‘# 0 y"f

3doow = 20,00vE
ID: 4.7.41 / _ 205 L
‘3 O, e = .a_(:}/‘_}t A2 C e E—

"Ou‘u' ?Z g o
Nol2ya

c
/(w ,z/ %)
// & sa{/%ﬂ"

bl c) N0
/\(og\ —.0%€

/%/Ag’) - JO9E
oy

3 O s
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104. The population of a colony of mosquitoes obeys the law of uninhibited growth. Use this information to answer parts (a)
through (c).

(a) It N is the population of the colony and t is the time in days, express N as a function of t. Consider Ny is the original
_amount att=0 and k#£0 is a constant that represents the growth rate.

N() = N __:(Type an expression using t as the variable and in terms of e.)

[I. {b),The population of a colony of mosquitoes obeys the law of uninhibited growth. If there are 1000 mosquitoes initially
and there are 1300 after 1 day, what is the size of the colony after 4 days?

Approximately_I - mosquitoes.
_(_Do not round until the final answer. Then round to the nearest whole number as needed.)

[ (c) How long is it until there are 90,000 mosquitoes?

About | ] days.
(Do not round until the final answer. Then round to the nearest tenth as needed.)

Answers N ¢ kt

2856
17.2

ID: 4.8.5:




/&(/ )= e
QQGZ}GVMW’: =

2 ._
262317\_

% /maé/

N 4)= /Ouaf/f( 26236%%]\




2623 ¢y €

;4 36




105.

‘._

106.

The half-life of carbon-14 ig 5600 years. If a piece of charcoal made from tr‘}e wood of a tree shows orﬁZ 66% of the ¢
tter, when did the tree die?

‘carbon-14 expected in livin . j/ __ . A
éé’ /e (’/‘L f ﬁgﬂ' / /'? < Z .r;
The tree died about | years ago. { (/ o e f s v
(Do not round until the final answer. Then ro%nd to the nearest whola number) L /) 15‘; o / Q-ﬁ-‘
s -
£L o /UM ) e e 19, 4 ’ -
Answer: 3357 z j“'(! : éi(/t,zj / %) A
. f. N -  — & g
¢ (; 1. ', . Y , *"f g 5” ,L, ,;‘(,J
é ( . ’ év'-n ..{_"L"? b j'_ Ve o~ oe ._—-7—-- T ov

f h / M - — i/ R
ID: 4811 A (2 66) =, (% % o (H) >‘{”(% 3 fas 92 zf{—u": e

After the release of radioactive material into the atmosphere frof nuc!ear power plant in a country in 1980, the haym‘w\
that country was contaminated by a radioactive isotope (half- 6 days). If it is safe to feed the hay to cows w(ﬂ% of N
the radioactive isotope remains, how long did the farmers need to wait to use this hay?

 f
The farmers needed to wait approxnmately days for it to be safe to feed the hay to the cows. /? / )

(Round to one decimal plac;as:aa}esll _6;_: ; 61_, / [ ’2 ﬁ
Answer: 18.4 /Z' " &y !, {“ {,—f.;,( A /} Q.'
{:_:; - /"\’l\ J { ) 'z
AL — f 7 - :
ID: 4.8.21 ;é A 6: Afit) 2 & (‘:é)
= - > /._ - — -
o {1 ( / & ; = ‘f‘ﬂf i oy
: %) TS sscirs <€D
kufon) - VL T e e P ok
A (v1L) »5— ‘fwf ) A TS -
A(oft) . e bfl)
A (F) - 11412019, 7:47 AM
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107- " Uninhibited growth can be modeled by exponential functions other than A(t) =A, e K For example, if an initial population
t

P requires n units of time to triple, then the function P(t) = P5(3) " models the size of the population at time t. An insect
population grows exponentially. Complete the parts a through d below.

(a) If the populatlon triples in 30 days, and y insects are present: tmha&lyt—watean Q@Dential function of tT form

P(t)= P0(3) that models the populatlon‘ ﬁ/ //é/ é((;/';) Jf 4 — |
P(t) = | /J("/‘(_’) Z(“/I ELC&!/;C)) 1/

— 28 ;-:,
(b) What will the population be in 46 days? ( Q() Z/ 5T 5 ) XJ : . |

/
The population in 46 days will be \ A (L,ﬂ( 9‘ A G’W /

(Round to the nearest integer as needed.) '
. , O (oo =7 0/ 3) }é_'

(c) When will the population reach 600?
| EN - QC__
The population will reach 600 in .l days. ‘? 5

(Round to one decimal place as needed.)
< /3) 5 o

(d) Express the model from part (a) in the folm A(t)=Ag e 3 %
| ( (s)= A, / 3/

P(t) =
(Use integers or deC|maIs for any numbers injthe expression. Round to three decimal places as needed.)

Answers t ' ‘-”gb‘ (/ "/{ ' Pé‘ %"/j/ /
40(3)%° /ﬁ (/x' Jioe f—,éq/S/ /

: 22
216 b ( %) J’x—,/ﬁ J /
73.9 i . (/ ) = (
40 ¢ 0037t : - 7o
(3]

. 7 E o ] \
ID: 4.8.32-GC 5,_,@‘233-@ C 5“@ \
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108 Solve the system equatm s Ifthe ?];‘tfm has no solution, say that it is inconsistent. _~= 2 x YA
/ f Yi—2e 2 o oW YT
2 .:?a. ' 1o = (7 A Ty

2K f 0 = by <D

4x —2y=2
10x+y =23

Select the correct choice below and, if necessary, fill in any answer boxes within your choice.

(_) A. The solution of the system is x = andy= . S b L S"’L 6&)("’ l’y e

(Type an integers or simplified fractions.) - ‘f(z ) — -7 <
) B. There are infinitely many solutions. Using ordered pairs, the solution can be written as ‘

{(x,y)|x= ~ ,yanyreal numher}. &; o 27 Z e

(Simplify your answer. Type an expression using y as the variable as needed.) )1/,_\ 2 7 — / = 3
() €. The system is inconsistent.

o t,/ — - b
Answer: A. The solution of the system is x = 2 andy= 3 . o i‘ :__/"" ; ;fff;
- —

(Type an integers or simplified fract:ons )

. (ﬂ )=(2,3)> O

109. gSolve the given system of equatlons If the the system has no solutlon say that |t is inconsistent. o
c rri x , CAef j ,'>?x"k/
Xx-2y+3z= 10 / S ,'_—f——_ﬁ__\
2Xx+ y+ z= 5 .f’ 5 Y4 - '
-3x+2y-2z= =12 k / =
— 3 ' — é_' e !z s e
Select the correct choice below and t‘ Il'in any answer boxes w:thm your choice. "
() A. The solution is x = VY= ,and z= . (Type

integers or simplified fractions.)

i » B. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xy.2) | x= Y= . z any real number}.

(Simplify your answers. Type expressmns using z as the variable as needed.)

() C. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xy.2) | x= . y any real number, z any real number .
(Simplify your answer. Type an expression using y and z as the variables as needed.)

() D. The system is inconsistent.

Answer: A.
The solution is x = 2 LY= -1 .andz=__ 2 | (Type integers or simplified

fractions)LV/) k//& 4, /){ 4// \/ /( ///4))
Z_ \

ID: 6.1.45

2 t

vve L (A Z

/412019, 7:47 AM
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110. Find the sum of the sequence.

> - = (;(” )f//m‘“f/ﬁ (761~¢) (?W) ~ )<
- (#Cf 76(/(“"y’)'('(35’f"-/)—f(5,3,q)w

Z<8k4> E// —f(/g) (Zv/-r"(zf)"_

Answer: 64 Ma /A J / é(/LM ch ;{(‘/4 é
ID: 7.1.73 ( Lr Mz Zrcéém C, {_C W, S

—_——
111. Expand the expression using the binomial theorem.

x+2)°
x+2°=

Answer: 5 4+ 10x* + 40x° + 80x2 + 80x + 32

ID ?517

C(;C)(z)-f C/»()’z/% C(/Ja) ’f CJﬂ()/d + C k/(a/f C(<)/¢)
NI+ &GN ) + Gl ff/w/«/m r( /(x)//m/////) 529

&/u/ff‘fo,\/’f 070/( + fox—fzz_)

5’ /J/[é,JL, /o’{,/7 ﬂCV/ 0, Ca b f:(
( path %4; Hep, {, enbe, < 5
§'/ //Mﬁ./f///fé /7cg/ ,2 el ; < S
/4//‘% VAP 3/ b, T /@
A, /Zfé /e, ol = 5
z//// .V/ / ~

%/‘—*/4 // %(/j‘ 5/ Col, = /

e
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